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Init 1 : Numbers to 10,000

Thousands, Hundreds, Tens and Ones

. Count the thousands, hundreds, tens and ones in this chart.

.. %%
.. ©

n 2000 + 600 + 80 + 5 = 2685
i 2685 is the standard form of 2685.
2000 + 600 + 80 + 5 is the expanded form of 2685.

We write 2685 in
216185 words as two thousand
six hundred eighty-five.

In 2685,

the digit 2 is in the thousands place.
lts value is 2000.

The digit 6 is in the hundreds place.
Its value is 600.

The digit 8 is in the tens place.

Its value is 80.

The digit 5 is in the ones place.

Its value is 5.
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5 Compare the numbers 3012, 3210, 4906,
Which is the gredtest number!
Which is the smallest number?

Compare the
thousands.

4 thousands is the greatest.
So, 4906 is the greatest number.

3012 and 3210 have the
same number of thousands.
Compare the hundreds.

0 hundreds is less than 2 hundreds.
So, 3012 is the smallest number.

he numbers in order beginning

Arranging t
have 3012, 3210, 4906.

with the smallest, we
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NMumber Patterns

~In a number pattern, we first find out how the given numbers
- are related to one another to find the missing numbers.

1. 1202, 1204, 1206, We add 2 to get the next number.

So, the missing number is 1208,

2. 2894, 2794, 2694,

We subtract one hundred to get the next number.
So, the missing number is 2594.

Rounding Numbers

1. Round 306 to the nearest ten.

4 \

306

! | |
300
306 is between 300 and 310.

It is nearer to 310 than to 300.
So, the nearest ten is 310.




7. Round 3450 to the nearest hu.n'df'é;d:.‘

4 N
3450

| } ] | | J | | ]

)
3500

3400
3450 is halfway between 3400 and 3500.
\We take 3500 to be the nearest hundred.J

3450 is 3500 when rounded to the nearest hundred.

3. Round 9488 to the nearest thousand.

- \
9488
¥
Ir H ] ] ! ! ] ] | i 2
9000 9500 10,000
9488 is less than halfway between 9000 and 10,000.

\It is nearer to 9000 than to 10,000.

/

9488 is 9000 when rounded to the nearest
thousand.
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Date:

Class:

Name:
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Write the numbers.

1.

|
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(b)

Write the numbers.

2.

two hundred four

three thousand, seven hundred eleven

-

, Nine

four thousand

one thousand, five hundred

five thousand, two hundred forty-three

(@)
(b)
()

(d)
(e)
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3. Write the numbers in words.

520

3805

5001

6043

7290

(f) 19018

Write the missing numbers.

(@) 208 = + 8

1379 = 1000 + 300 +

3801 = 3000 + 800 +

4625 = + 600 + 20 + 5

(€) 7045 = 7000 + +5

(f) 9876 = 9000 +

e
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Noame: Class: Date:

Exercise 1B : Thousands,
undreds, Tens and

' ‘. 1. Fill in the blanks.

Thousands Hundreds Tens Ones

(@) 4315 is a 4-digit number.

It is made up of thousands,
hundreds, ten and ones.
(b)  In 4315, the digit 4 stands for
()  In 4315, the digit 3 is in the place.
| lts value is

(d) In4315 thedigit __ s in the tens place.

Its value is

(60 In4315,thedigit __ isin the ones place,

Its value is
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2. What does each digit in each of the following numbers
stand for? | |;

@ 1768 (b) 269 8 -

3. What does the digit 3 in each of the following numbers
stand for!?

3817

8013

9326

4530

5008 Mirshall Caverdish Internaiional (Singapore) Private Limit




Name: Class: Date:

: Thousands,
nes

xercise ‘1
- Hundreds, Tens and

' - 1. Circle the greater number.

| (@) 2015 2186

(b) 6137 8137
| (c) 5766 6857
(d) 2352 2382

2. Circle the smaller number,

| (@) 5781 9871
(b) 6624 6824
: (c) 8107 8017
(d) 9532 9563

3. Write », < or = in each .

(@) 1263 O 2263

(c) 5797 O 5777
, | (d) 6091 O 6084

-

. -

.
-

//%A% e
%W -




4, Arrange the numbers in order.

(a) Begin with the smallest.

Begin with the greatest.

(b)

" @ 2008 MErshal Cavendigh ftatnational (Singapare) Privats |
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Name:

Class: Date:

Exercise 2 : Number Patterns

1. Fill in the blanks.
(a)

is 10 less than 1049.

(b) is 10 more than 1806.
() —— _ is 100 less than 3690.
(d) is 100 more than 4892.
() - is 1000 less than 9074.
(f) —— _ is 1000 more than 7001.

2. Fill in the blanks,

(@) 3812is more than 3811,
(b) 3812is____ more than 3802.
(9 3812is more than 3712.

(d) 3812is___ __ more than 2812.

Fill in the blanks.
7659 is 1 less than
(b) 7659 is 10 less than

7659 is 100 less than
7659 is 1000 less than




4, Complete the regular number patterns.
(a) 4010, 4020, 4030, 4050
(b) 4010, 4110, 4210, , 4410
(c) 4010, 5010, 6010, , 8010 |
(d) 4010, 4011, 4012, , 4014 i

5. Complete the regular number patterns.

(a)  9253,9252,9251, 9249
(b)  9253,9243,9233, 9213 /
(c) 9253, 8253, 7253, , 5253 :
(d) 9253, 9153, 9053, , 8853

6. Complete the reqular number patterns.
(a) 6055, 6155, , , 6455
5361, , 8361, 9361

(c) 2409, 2389, 2379,

, 4068

€) 9652, , 7652, 6652,

, 3326

Primary Mathematic Standards Ediﬁdn}f’)&?fr!’ﬁu’clité g 92008 Warshal Cavardish International (Singapors] Private Liried



Name: Class: Daje:

xercise 3 : Rounding Numbers

1. Round to the nearest ten.
Fill in the blanks.

(a) 108 is between 100 and

108 isnearerto ______ than to

108is __ when rounded to the nearest ten.

(b) 115 is halfway between ________ and

115is _—_ when rounded to the nearest ten.

2. Round to the nearest hundred.
Fill in the blanks.

5630
Y
!Iill!!lll!lll\!lilli
5500 5600 5700
5630 is between 5600 and
5630 isnearerto ______ than to i

5630is __ when rounded to the nedrest hundred.

2008 Marshall Caveridish Intemational (Sihapare) Private Limited:




(@ 321
(c) 595
(€) 3622

(@) 1568
() 3146
(e) 7604

(@) 6214

(c) 4581

(e) 3899

Round each number to the nearest ten.

(b)

(d)

(f)

(b)

(d)

()

(b)

(d)

(f)

468

1018

4759

4. Round each number to the nearest hundred.

9084

2288

5550

Round edach number to the nearest thousand.

9294

8500

2916




Unit 2 : Addition and Subtraction

Sum and Difference Within 100
W i b5 e 6 sim,
1. Find the sum of 47 and 8.

@ OO OO®
W@ OOO + OO

B e

S

.
47+ 8 [ Make a 10 first.
47 + 8

3 s 3/\5

47 + 3
50+5

50
55

h.

47 + 8 = 55

fe} Privato Lirited | ©2008 Marshall Cavendiai Intérntional (Singapors) Privats Limited




5 Find the sum of 36-and 26.

kAdd 20 to 36 first.
ey,

3. Add 35 and 59.

59 is one less than 60.

35 -2 5 95 — 1> 94

35 + 59 = 94

. .%Pr_;t_m:ur:y."M'&thé:ﬁmi;s .(Sf.l?.ﬂﬁﬂtaﬁ._ﬁﬁiil_on. ExtmfPrdd-.ic.e:?y-_ - '-




- We subtract the smaller number from the greater n umber to

 find the difference.

4. Find the difference between 22 and 8.

OO _ OOV
OO T ORI

10-8
12+ 2
\

noi
i D
i

22-8=14

5. Find the difference between 49 and 24.

@R OONNR "49 - 24 R
OR OOON / \4

~20 — 4
49 > 29 = 25 LSubtmct 20 from 49 ﬁrst.)

49 - 24 =25

6. Subtract 19 from 75.

19 is one less than 20. O

_ O
75 2 > 551 g

75-19 =56




Sum and Difference Within 1000

1. Find the sum of 362 and 259.

@ ) 10
Add the10nes. mq;:ges
ig 3 { ten.
+
1

Add the tens.

362
+ 259
2 1

1 hundred.

; make

Add the

hundreds.
3162
£ 259 ) (900

621

" 2008 Narshall Cavéntish It (




2.

_ T_"f:'th'e;dlfferen'ce: betwee.n.'two 3 .dlglt “npu.mbers, uwe ._ .
subtmct the ones f‘rst followed“_bg the tens Gnd then the |
hundreds | S Colni i e

Find the difference between 362 and 259.

4 N

Subt h :
ubtract tseuones
362

- 259
3

3 12
362

- 259
03

Subtract the tens. ®

Subtract the hundreds.

OO
362
- 259
103

N /

We can check our
answers with addition.

1
259
+ 103




Adding Ones, Tens, Hundreds and Thousands

To find the sum of two 4-digit numbers,
Step 1: Add the ones.

Step 2: Add the tens.

Step 3: Add the hundreds.

Step 4: Add the thousands.

'..:::?-:_'Change ‘iO ones for 1 ten 10 ‘tens for 1 hundred _
10 hundreds for 1 thousand when we have more thcm
10 ones 10 tens or 10 hundreds to Gdd |

Find the sum of 3098 and 2386.

r ~
Estimate the value by rounding to the

nearest thousand.

3098 is about 3000.
2386 is about 2000.
3000 + 2000 = 5000
The answer should be daround 5000.

A Y
/Add the ones. \ Add the tens. \ Add the hundreds.\ Add the thousands.\

1 1
3098

3098 3098 3098
+ 2386 + 2386 s 2386 + 2386
4 8 4 484 5484

Change 10 ones / Change 10 tens
for 1 ten. for 1 hundred.

5484 is close to the estimated answer of 5000.
So, the answer is reasonable.

; PruthceE = @:2003-M'aréha|(c::a\_z'g'ngﬁgﬁ'|hte_'rh_§tégnjaﬁ|_('s'in'g:apor"




3098
2386
5484

Subtracting Ones, Tens, Hundreds and Thousands

To find the difference between two 4-digit numbers,
Step 1: Subtract the ones.

Step 2: Subtract the tens.

Step 3: Subtract the hundreds.

Step 4: Subtract the thousands.

Chcmge  ten for 10 ones,
| 1 hundred for 10 tens, B
"1 thousand for 10 hundreds

* when v we do not have enough ones tens or hundreds to
subtrcnct from

Find the difference between 4098 and 1795.

iy A B
Subtract Subtract Subtract the Subtract the \
the ones. the tens. hundreds. thousands.
310 310
4098 4098 40.9 8 4098
- 1795 - 1795 - 1795 - 1795
3 g3 303 2303
Change 1 thousand
for 10 hundreds.
N J

©.2008 Marshall Caviiidish Intefhationsl (Singapere) Brivate Limited




Two-step Word Problems

Models can help us solve addition and subtraction word

problems more edsily.

There are 472 animals at Zoo B.
There are 97 fewer animals at Zoo A than Zoo B.

How many animals are there altogether?

We draw @
model to solve
the word
problem.

Step 1:
Find the number of
animals in Zoo A.

472 — 97 = 375

There are 375 animals in Zoo A.

375 + 472 = 847 Step 2:
Find the total

There are 847 animals altogether. | number of animals.




Name; Class: Date:

Exerds&e 1A
Difference

um and
ithin 10

as

1. Write the numbers.
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2. Fill in the boxes.

(@ 17 -2

3. Fill in the boxes.

(@)  What number is 5 more than 82!

(b)  What number is 30 more than 47!

() What number is 26 more than 32!




1.

Fill in the boxes.

(@) 32-8=
22

/\10 -

(b) 44-6=

34 10

Pr:mury Mmhemuhcs (Siundulds Edlllnn) Extru?rud




2. Fill in the boxes.

- 30 -6

@ 4220 =

)

Fill in the boxes.

What number is 7 less than 217

What number is 20 less than 76!

What number is 35 less than 507
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Name: Class: Date:

Exercise 1C ;: Sum and

ifference Within 100
1. Write the missing numbers.
(@) 24+ = 98
(b)y S6+ =70
(c) + 36 =75
(d) + 43 = 61

2. Write the missing numbers.

(a) 84 - = 37
(b) 79- =18
() - 26 = 51




3. Write the missing numbers.
(a) 70-{:]: 55 + 10

(b) _ 25 =85 - 60

() 20+ = 45 + 15

(d) +35=60-15

4 Draw models to solve the following.

Fill in the boxes.

(@) 57is less than 90.

(b) 15 more than 76 is .

.
o
-
o
i

i
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less than 81

is 25.

.

()

Fill in the boxes.

5.

is 79.

21 more than

()

more than 31 is 87.

30.

Is

.

Peisan
el
o

65 less than

—
o
S

- 6. Fill in the boxes with + or = in each O )

@ 28( )17=mn
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Find each sum or difference. Then write >, < or = in
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Nome: Class: Date:

-xercise 2A : Sum and
% Difference Within 1000

1. Find the value of each of the following.

@ 123 b) 595 c) 388
+415 +108 +142
d 890 € 942 (f) 704
~ 164 -865 -237

2.  Fill in the boxes.

(@) 563 +97 =

(b) 696 + 98 =




3. Estimate the value of each of the following by roun
number to the nearest ten.

ding each

(@) 62+76

S

58 + 93
I

672 + 197

‘ -
-
.
S



4,

(a

b

d

Estimate the value of each of the following by rounding each
number to the nearest hundred.
563 + 312
. _
695 + 214
=+ =
716 + 182
+ =
992 — 567
847 — 699
768 — 409

f

- .
mae e e
e e




5. Write the missing numbers.

+ 473 = 500

+ 517 = 600

700

800

900

Write the missing numbers.

500 - = 312

408

365

- 254 =176

= 180

o
e
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(c)  After selling 575 eggs, Mr. Lim had 283 eggs left.
How many eggs did he have at first?

(d) A shopkeeper had 976 exercise books.
765 of them were sold.
How many exercise books were left!
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Class:

Date:

Exercise 3 :

dding

nes,

Tens, Hundreds and Thousands

1. Add
a) 3072+8 =
b) 1947 + 60 =
¢y 3615+90 =
d) 4625 + 400 =
e) 7138 +900 =
f) 8800 + 200 =

2. Write the missing numbers.

() — 352 = 1000
b —~ 1352 = 2000
Q) ~ 527 =1000
d ~ 2527 = 3000

4816 = 5000

L _?;;m'm Mathem'utfcs {Siaﬁderﬂs Erjin'onlg Extra Pradlice 3







Name:; Class: Daje:

LX)

Exercise 4 ubtracting Ones,
Tens, Hundreds and Thousands

1. Subtract.

(@) 1910-8

b) 2700-20 =

(c) 4600-30 =

d) 5000 - 600

6578 | e) 8000 — 700 =

I

| (f) 9000 — 400

2. Write the missing numbers.
3204

a + 3093 = 4000
b) 4361 + = 5000
7305 c + 5282 = 6000
1997
d) 6605 + = 7000

e) + 7721 = 8000

o
o

3.3»?1,.‘
=
i

i
e



3. Subtract.

(@ 1736
372

. e mary. Mathematics {Standards Edition) Extra Practice 3 2008 Marshall Cavendish Intemational (3
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)

2453

- 545

3257
- 579

5301
~ 4498

7045
- 6876

9002

-2768

Name: Class: Date:

Exercise 5 : Two-step
ord Problems

1. Do these. Show all your work clearly.

(@) A television costs $1045.
It is $968 cheaper than a refrigerator.
What is the total cost of the refrigerator and
the television?

(b)  There are 2045 students in a school.
1013 of them are girls.
How many more boys than girls are there in
the school?

ton (Siigapore) Private Lo




A mailman delivered 1352 letters on Monday.

He delivered 76 more letters on Tuesday than on
Monday and 1296 letters on Wednesday.

How many letters did he deliver altogether?

Mrs. Chen had $5039.

She spent $1543 on a set of furniture and $2698 on
d piano.

How much money did she have left?

[ _(:zy athematics




Unit 3

Word Problems
- Models can dlso help us solve multiplication and division
1. There are 5 English books.
There are 4 times as many Mathematics books as
English books.
How many Mathematics books are there?
5
= /_____J;‘“\
English
Mathematics

5x4=20 Multiply 5 by 4.

There are 20 Mathematics books.

© 2008 Marshali Caveridish Int'ei'n'atmnal_.(Slngap'bre')_Prlva_te_'Li!ji‘lr!ed_.
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2. Mrs. Simpson bought 18 pints of milk.
She gave the milk equally to 6 children.
How many pints of milk did each child get!

18 pints

I N—

?

18+6=3 6 units = 18 pints
Tunit=18+ 6

Each child got 3 pints of milk.

Joni has $10.
Jack has 3 times as much ds Joni.

How much less money does Joni have than Jack!?

510
—_

10 x3 =230
Jack has $30.

30-10=20
Joni has $20 less than Jack.

: @_2_&)03 M'_ai'shall'{).a.i(endis'h Intératiorial (Singapore) Priva



ultiplying Ones, Tens, Hundreds and Thousands

To multiply a 2-digit number by a 1-digit number,
Step 1: Multiply the ones by the 1-digit number.
Step 2: Multiply the tens by the 1-digit number.

1. Find the product of 35 and 4.

. 4
f Muitiply the ones by 4.

3

4
[ J LN &

cld?

Multiply the tens by 4.

30x4 =120
5x4 =20
\___ Y, 35x4 =120+20

35 x4 =140

The product of 35 and 4 is 140.

iational (Singapors) Private Limite
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To multiply a 3-digit number by a 1-digit number,
Step 1: Multiply the ones by the 1-digit number.
Step 2: Multiply the tens by the 1-digit number.
Step 3: Multiply the hundreds by the 1-digit number.

2. Multiply 248 by 2.

Muitiply the ones by 2.

24

X
N oD

Lo ]

Multiply the tens by 2.

2 4

b OO

w53
o

Multiply the hundreds
by 2.

.

248 x 2 = 496

\

200 x 2

248 x 2
=400 + 80 + 16




To multiply a 4-digit number by a 1-digit number,
Step 1: Multiply the ones by the 1-digit number.

Step 2: Multiply the tens by the 1-digit number.

2. | Step 3: Multiply the hundreds by the 1-digit number.
Step 4: Multiply the thousands by the 1-digit number.

3. Multiply 2167 by 4.

Muitiply the ones by 4. h
2167
— X 4
i~ 3 [=
x 2
8 Multiply the tens by 4.
7 = 400 : 2167
2=80 . X 4
2=16 ﬁ “‘”" 68 -
2
Multiply the hundreds
by 4.
2 2
2167
x 4
7 668 ~
Multiply the thousands
by 4.




We can check if our answer is reasonable by estimating the
product of the numbers.

4. Estimate the product of 513 and 3.

513 is 500 rounded to the nearest hundred.

500 x 3 = 1500

The product of 513 and 3 is about 1500.

Quotient and Remainder

_"When a number cannot be dmded bg canother number
exactlg, there is @ rem@mder G T

18 + 7 = 2 remainder 4

When 18 is divided by 7, the quotient is 2 and the remainder
is 4.

2x7 =14
14+ 4 18

l

& 3008 Marshall Caveridisht Intarnationat (Singapore)

Primiary Mathematics Standards Edifion) Exirqumce& IR



"-'-"'Numbers in wh!ch the ones “digit is 0,24, borg are
_even numbei’s A!i even numbers can be duvaded bg
2 exqct[g AR S 3 o
'-_'__-_-:Numbers in WhICh the ones dlg;t is 1 3 5 7 or 9 are
~ odd numbers. All ‘odd numbers ccmnot be diwded bg
2 excrctlg There |s G remmnder of 1 S

Divide 97 by 2.

4 {9 tens + 2 = 4 tens with remainder 1 ten]
25 97
8 @ 4 %2

1
48
y— 17 ones + 2 = 8 ones
z ;7 with remainder 1 one OO

When 97 is divided by 2, (g %5 = 9¢
the quotient is 48 and the | 94 + 1 = 97
remainder is 1.
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Dividing Hundreds, Tens and Ones

To divide a 3-digit number by a 1-digit number,
Step 1: Divide the hundreds by the 1-digit number.
Step 2: Divide the tens by the 1-digit number.
Step 3: Divide the ones by the 1-digit number.

Find the value of 315 + 2.

Divide the Divide the Divide the
hundreds by 2. tens by 2. ones by 2.

i 15 157
2)315 2)315 2)315
2 2 2
1 11 11

10
15
14

i

N

315 = 2 = 157 remainder 1

When 315 is divided by 2, the quotient is 157 and the
remdinder is 1.




Class:

Exercise 1 : Looking

1.

Write the numbers.

3 fours =

2. Write two multiplication sentences.

TR

M@W//_’/:

il

=

x| =

Complete the division sentences.

o
(SR

S
(SR

14+2=

14+7=




4. Complete the number sentences.

Multiply.

(@@ Sx2= (b)y 6x3=

() 4x9= (d) 10x0=

Divide.

(b) 27 +3

(d) 40+5

Complete the number sentences.

(q) x2=18 (b) x 3 =21




Name: Class: Date:

ord Proble

Exercise 2 : More

1. Do these. Show all your work clearly.

(@  Mary bought 5 boxes of cake.
Each box contained 9 pieces of cake.
How many pieces of cake did she buy?

(b) 32 m of cloth was cut into 4 pieces of the same length.
How long was each piece of cloth?

()  There are 80 tables altogether in 8 equal rows.
How many tables are there in each row?




(d) James has 36 balloons.
He has 4 times as many balloons as George.

How many balloons does George have!

(e)  The weight of a fish is 2 Ib.
The weight of a piece of meat is 3 times as much.

What is the weight of the piece of meat?

(f)  Each tray can carry 8 cups.
Mary has 3 trays.
How many cups can the 3 trays carry!

@ 2008 Marshal Gavendish inte.rns_s'il_qqa%
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Name: Class: Date:

1.

xercise 3 : Multiplying Ones,
Tens, Hundreds and Thousands
Multiply.
(a) (b)
(d)
@ 30 (b) 20 () 600 (d) 500




3. Multiply.

(a) 136
2

4, Multiply.

63 x 3
72 x 4
207 x 4
423 x 5




348

957

2305

4 -

2390

5.

Do these. Show all your work clearly.

(a)  There are 346 pages in a book.
How many pages are there in 2 such books?

(b) Container A can hold 125 pints of water
Container B can hold 5 times as much water.
How many pints of water can Container B hold?

(c)  Adam hds. 63 stickers.
Sara has 4 times as- mcmg stickers as Adam.
How many more stickers does Sara have than Adam!?




(d) Mrs. Watts baked 2136 apple pies.
Mrs. Li baked twice as many apple pies ds Mrs. Watts.

(i) About how many apple pies did Mrs. Li bake?
(i) Exactly how many apple pies did Mrs. Li bake?

(e) Bobby has $3125.

Jansen has 3 times as much money as Bobbuy.
(i) About how much money does Jansen have!
(it) Exactly how much money does Jansen have?

Hvendish Iniamational {Singapore). Privat




Name: Class: Date:

Exercise 4 :
emainder

1s Mrs. Watts.
. Li bake?
-5, Li bake?

1. Circle the odd numbers.

25 37
403 512 1358

2. Circle the even numbers.

>bby. :
n have!? f 3

have? Find the quotient and remainder.
en have!

(@ 2)68 (b) 3)46

Quotient Quotient

Remainder Remainder

o o s 20 s Covsr o S P i © PinaryMolhamots Stndrds ] B Prc




4. Do these. Show all your work clearly.

(@) Rooney has 46 apples.
He puts them in bags of 4 each.
How many bags does he use!
How many apples are left over!

Each pen costs $3.

Mr. Dewar has $67.

How many pens can be buy?

How much money will he have left?

-
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Name: Class: Date:

Exercise 5 : Dividing
Hundreds, Tens and O

1. Divide.
(a) 80 + 10 = (b) 120+ 10 =
(c) 378 + 10 = (d) 503+ 10=

2. Find the quotient and remainder.

(@ 4)926 () 3) 641

Quotient Quotient

Remainder Remainder

€ 5)609 (d) 2) 857

Quotient Quotient

Remainder Remainder

: ryMﬁthemuhcs s
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(d)

5)99

(h)

2 ) 530

()

10 ) 240

4. Do these. Show all your work clearly.

(@) A taxi can carry 4 passengers.
How many taxis are needed to carry 144 passengers!

(b)  Pablo had 105 apples.
He put 5 apples in one bag.
How many bags did he use to put all the apples?




Ali had 365 eggs.

He put 8 eggs in each basket.
How many baskets did he use!
How many eggs were left over?

574 chairs were arranged in 5 rows in a hall.

How many chairs were there in each row?
How many chairs were left over?

: vt
S
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Unit 4

lultiplying and
by 6,7, 8 and 9

Multiplying and Dividing by 6

i':'Rem"lembe:r'lng the multlplucatlon tcable of 6 shown beiow helpsf
usﬂ to multiplg cmd dw;de bg 6 easalg SR




Mulciply 532 by 6.

B Multiply Multipiy Multiply
the ones the tens the
by 6. by 6. hundreds
“ by 6.
5312 532 5372 5312
X 6 X 6 > % 6 > % 6
2 9 2 3192

L

When 532 is multiplied by 6, the product is 3192.

We can use estimation
to check if the answer is
reasonable,

537 is 500 rounded to the nearest hundred.

500 x 6 = 3000
3192 is close to 3000.

> o
o o Wwﬁw

- So, the answer is reasonable.

%M
- -
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2. Divide 697 by 6.

hundreds by 6.

—>

Divide the
1
6)697 6)697
1 H .ié;
532 0
6
92

Divide the
tens by 6.

ok,

i
6

A

O’G\ o
O O

w o

Divide the
ones by 6.

116

6)697

remainder is 1.

3. Divide 8016 by 6.

When 697 is divided by 6, the quotient is 116 and the

Divide
the
thousands

6)8016

Divide
the

hundreds
by 6.

Divide
the ones
by 6.

13 1336
6)8016 6)8016 6)8016
6 6 6
20 > 20 > 7%
18 18 18

remainder is Q.

When 8016 is divided by 6, the quotient is 1336 and the




Multiplying and Dividing by 7

the multiplication table of 7 shown below. helps

10x7 =70
2x7 =14

- :
"WMJ%"}@'-MW?’%” [ 2
- 8x7 =70-14

e
o
e

e




B

%P

B
Ho
s

B
BB

&

Solve these.

(a) There are 7 days in a week.

How many days are there in 28 weeks!?

28 x 7 =196

There are 196 days in 28 weeks.

.

28 is 30 rounded to the nearest ten.
30 x 7 =210

196 is close to 210.

The answer is reasonable.

(b) 789 chairs were arranged in 7 rows in a hall.
How many chairs were there in each row?
How many chairs were left?

= [ .

fd 0
~j OO

O
o

112

7)789

789 +7=112R5

There were 112 chairs in each row.
5 chairs were left.

'('Si.ng'éhol.‘é) Brivate Li




ultiplying and Dividing by 8

Wamambering he micpicto tobl of 8 show ek hls

s to multiply and divide by 8 easily.

e
e
-

5x8 =40
6x8 =40+8

.'@ZDC'B_Mars'ha_'Ca_véndisﬁ_ln_erna_ﬁqha_l(S_i déars)



Solve these.

(a) The capacity of a container is 8 quarts.
What is the total capacity of 32 such containers?

32 x 8 = 256

Cad
o M

X

[
05
o

The total capacity of 32 such containers
is 256 quarts.

-
32 is 30 rounded to the nearest ten,
30 x 8 = 240

240 is close to the answer.

So, the answer is reasonable.

.

A fruit seller had 1605 oranges.

He packed them into 8 boxes equally.

How many oranges did he put into each box?
How many oranges were left over?

1605 +8=200R 5 200

8) 1605

He put 200 oranges into each box. “anc
5 oranges were left over.

e
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Solve these,

(@) Ronnie has 2389 marbles.
He puts 9 marbles in edch container.
How many containers does he need!?
How many marbles are left over?

2389 + 9 =265R 4 265
9) 2389
18
He needs 265 boxes. 58
4 marbles are left over. 54
49
__45
4
(b) Mary sold 118 funfair tickets at $9 each.
How much did she sell il the tickets for?
118 x 9 = 1062 118
X 9
1062

She sold all the tickets for $1062.

100 x 9 = 900
1062 is close to 900.
The answer is reasonable.

118 is 100 rounded to the nearest hundred. O
O




More Multiplication and Division

1. Find the value of 7 x 10 x 12.
Multiply 7 by 12 first.

7x10x12=7x12%x10
84 x 10 = 840
7 x10 x 12 =840

2. Find the value of 3000 + 6. 30+6=5
L 300 + 6 = 50
3000 + 6 = 500 3000 = 6 = 500

3. Estimate the value of 2389 + 5.

2500 = 5 = 500 2398 + 5
The value of 2389 + 5 4 x5 - 20
is about 500. 5x5=125

23 is closer to 25 than 20.

o
-
o

zﬁ:\w\
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f;1'2 first.

Name:

Class:

Exercise 1 :

Date:

Dividing by 6

Multiplying

and

54 + 6

30+ 6

Olv wiollw| || —

—




3. Muitiply. '

(d) 258 ) 370 (f) 432
X 6

(@ 205 (hy 600 @ 713

QM 770 ) 906

X

0 954

T

o
e
S i .

-
S Naonuhl
-

o

ik







5. Do these. Show dll your work clearly.

(@) 274 cupcakes were shared equally among 6 classes.
How many cupcakes did each class get!
How many cupcakes were left over?

Sean earned $732 in one month.
How much money did he earn in half a year?

Lily saved $180 in half a year.
If she saved the same amount each month, how much

did she save in 5 months!?

S
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Name: Closs: Date:

Exercise 2 : Multiplying and
Dividing by 7

. Multiply.

e 35+7>C7+7X56+7 )( 70+7)C49+7
, how much _:f:_ | Q )

SNESENERERTDEAED DD

C28+ 71‘14 + 71 21 + 73(63 + 7Y42 + 7)
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(e) (f) (9) (h)

7)252 7 ) 280 7)413 7 ) 705
(i) (i) (k) (0

7)728 7) 847 7) 875 7 ) 960

Do these. Show all your work clearly.

(@)

There are 105 pages in a book.
Aminah read 7 pages in one day.
How many days did she take to finish reading

the book?




e
e
G
S
AR et

Ca o
oo

- o
N Wﬁ\

s

o

(b) There are 89 marbles in a bag.
There are 7 times as many marbles in a box.
How many marbles are there in the box?

Mrs. Kim bought 7 toys.

Each toy cost $68.
She had $100 left after paying for the toys.

How much did she have at first?

mury M'qflxémmlcs.(stundurd.s__




Name:

Class: Date:

Exercise 3 : Multiplying and
Dividing by 8




2. Multiply.

Teasia
e
e

o

AN
s

.
M -
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3. Divide.
- © (b) ©)
8)37 8 )64 875
(d) (e) ()
8) 88 8)94 8)98
(9) (h) (i)




4. Do these. Show all your work clearly.

(@) There are 12 bottles of ink in one box.
How many bottles of ink are there in 8 boxes?

There are 28 stamps on one page of an album.
How many stamps are there on 8 pages?

Matthew bought 6 bags of beads.

Each bag contained 100 beads.

He repacked them into packages of 8 each.
How many packages did he get?




Name:

Class: Date:
. _ﬂ—hﬁﬁ—i———_ﬁ_‘

Exercise 4 . lultiplying and
Dividing by 9
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(d)

9) 550

()

9) 702

(f)

9 ) 828




5 Do these. Show all your work clearly.

(@) Mark worked for 9 days.
He was paid $495 altogether.
How much was he paid each day?

(b)  Miss Meyer saves $105 per month.
How much does she save in 9 months?

Melissa had 315 stamps.

She gave 45 stamps away and kept the rest in

an album. |
If one page of the album can contain 9 stamps, how'
many pages would be needed to contain the rest of
the stamps?

2008 Marshalt Cavendish




Name: Clgss:

Dote:

xercise 5 : More
and Division

fulti;

ication

1. Fill in the boxes.
(@ 50x8x4 =

b) 25x7x10 =

2. Find the missing numbers.

(a) 4x6x8=Dx4x6
() 5x3x2=2x5x| |
(c) 8><5><6=6><D

(d 6x9x5

(e) 20x7><5=100xD

Fill in the boxes.

the rest of

o (Sigaparey Privais




800

g
P
]

8000

4. Fill in the boxes.

(a) Estimate the value of 472 + 5.

SR
The value of 472 + 5 is about D

(b)  Estimate the value of 1637 + 6.

el

The value of 1637 + 6 is about

(c)  Estimate the value of 2580 + 4.

el
The value of 2580 + 4 is about E

The actual quotient is to the estimate.

Primary Mathematics (Siu_'ﬁéﬂr_d's Edition] Extra Prattice 3 .Ma’?h?‘!_'gﬂvendls"- .'"‘éf:f.‘a“ﬁ’?'ﬂ_ (3*“95“":9@'?_ o



Unit 5

ata Analysis

M’esentmg Data

?j:'.fW"":i'_can present dqta m;'?: "'he form of CI table bcur graph
'qug chc;rt or lme plot i -

Mrs. Li took a survey of the favorite fruits of the students in
her class.

She presented the results of her survey in a table as
shown below.

Favorite fruit Number of students
Banang 5
Pear 8
Apple 10
Orange 14
Grapefruit 3

From the table,
(a) the greatest number of students like oranges.

(b) the least number of students like grapefruits,

(0 5+8+10+14+3=40
There are 40 students in the class,

Primary Mathematics (Standard




o
-

.
P
%

-
e

M o

The results of the
as shown below.

survey can also be presented in a bar graph

Favorite fruit MNumber of students

Banana 3

Pear 8

Apple 10

Orange 14

Grapefruit 3

Number
of

students

Banana Pear  Apple Orange Grapefruit

difion} Extra Proctice 3 0 [ 6 2008 Matsliall Cavend




A survey was carried out to find the number of pets in each
family. The data collected is shown below.

P b | = O | po

e e N = AN

N[O O | W
_

MNIOIO - W o

1
1
1
2
1
3

ORI ;O

The results of the survey can be presented in a tally chart as
shown below.

Num!:er of Number of families 42 families
Peifs 'fflthe were surveyed
amily altogether.

0 I 10
1 e 13
2 7117 -/ 11
3 i

4 // 2

5 / 1

The results of the survey can diso be presented in a line plot as
shown below.

The number of
pets in most
families is 1.

BCIC I I ;K W W 9 3¢
TR R ICICW W 3¢ 93¢ 3¢ e
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Pmbabi!itg

"Probeblhtg is a meclsure of-the' chqnces of 'cln even' happenmg |
szn_._ event is certain if it qlwdgs happéns .
‘An event is ;mposmblej{nf it never happens.
' Ilkelg;event has a good_chance of happening

l(elg event'-does not hcw'e--a good chcmce of hqp_pem_ng'::

Certdin event:
The sun rises in the east and sets in the west.

Impossible event:
An ostrich egg hatches into a baby crocodile.

Likely event:
Children’s day falls on a Sunday.

Unlikely event:
Students mark test papers done by teachers.

What other
unlikely events
can you think of?

hall Cavenishi liternational (Singapore) vt
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1. There are 10 black balls and 2 white balls in q bag.
john picks a ball from the bag without looking.

O

(@) There are more black balls than white balls.
John is likely to pick a black ball.

(b) There are no green balls, so it is impossible
to pick a green ball.

o

Alice rolled a regular six-sided die.
She recorded her results in g tally chart as shown below.

N 4 5 6 |
Lt P L |

(@ 6+5+5+5+4+5=30
Alice rolled the die 30 times.

(b) She got the number 4 five times,

(c) She got the number 1 the most often.

(d) Each time Alice rolls the die, she is likely to get any

one of the six numbers as she got each number almost
the same number of times.

ndards Editon) Exia Proctice



3. The bar graph shows the number of times Jane picked «
blue pen from a box without looking.
She replaced the pen each time.
She presented the resuits in a bar graph as shown below.

Black

1 1 3,
1 1 i

6 8 10 12 14
Number of times

From the graph,

(@) Jane picked a black pen more often.

She picked a black pen 8 times more than a blue pen.

Her chances of choosing a black pen were higher.
as there were more black pens in the box.




Name: Class:

Date:

Exercise 1 : Presenting

Data

36 of the girls wore caps.

(@) Complete the following table.

1. 56 boys and 48 girls went on a field trip. 22 of the boys and

Number| Number
of boys | of girls

Total number
of boys and

girls

Wearing caps 22 36

58

Not wearing caps

Total number of
boys and girls

(b) How many more boys than girls did not wear caps?

(c)  How many more girls than boys wore caps?

Primary Mthematcs (Sondards Ed




Make a table to show the following data.

Raju’s score Steve’s score Maggie’s score
Science: 85 English: 68 Mathematics: 75
English: 79 Mathematics: 72 Science: 87
Mathematics: 80 Science: 80 English: 70

Using the table, answer the following questions.

(b)  Who obtained the highest score in Mathematics?

(c) Who obtained the least score in English?

Who obtained the highest score in Science!?

How many more points did Raju score than Steve in
Science!

How many more points did Raju score than Maggie | ;
Mathematics!?

© 2008 Marshail Cavendish Infernationial




3. The bar graph shows' the favorite hobby of the children in
a class.
16
14

12

10
Number +

of 8
children

Swimming Playing Reading Playing
piano football

(@)  Which is the most favorite hobby of the children?

(b)  Which is the least favorite hobby of the children?

How many more children prefer swimming to reading?

How many children are there in the class?




4. The table shows the number of hours Sarah spent
studying each day in a week.

Days of the week Number of hours
Monday 8
Tuesday 10
Wednesday 7
Thursday 12
Friday )

Draw a bar graph to show the data given in the tqble.

Number
Of 6 -
hours




Class: Date:

Exercise 2 : Probabilit

Johnson rolls a regular six-sided die 30 times. Each time he

rolis the die, he records the number on the die in tally
chart as shown below.

1 2 3 4 5 6
1 R R R /1

(a)  Make a line plot of the data given in the tally chart.

(b) s it likely, unlikely, certain or impossible for John to
get the number 0 on the die when he rolls it?

Primary Mathematics (Standards- -




2. Fill in the blanks.

Noah has

12 red counters,

8 blue counters,

20 yellow counters and
3 green counters.

He puts all the counters in @ box.
Then he picks one counter each time without looking into

the box.
He does not put the counter back into the box.

Is he likely to pick a green counter!

(a

Is he more likely to pick a blue counter than @
red counter?

Is he more likely to pick a yellow counter or d
blue counter?

Which counter is he most likely to pick?

 (Standards Edition) Extra Procic



Unit 6 : Length

- Meters and Centimeters

1. Write 2 m 64 cm in cm.

2 m 64 cmis 2m=2x 100 cm
64 cm more 200 cm
than 2 m. 2 m 64 cm

=200 cm + 64 cm

2mé4 cm =264 cm

2. Write 839 ¢m in m and cm.

839 cm =800 cm + 39 cm
8m =800 ¢m

839 cm =8m 39 cm

2008 Marshalk Cavandish jntérn




3. Find the sum of 2 m 35 ¢m and 60 cm.

—
2 m 35 cm + 60 cm

N/

95 cm

.

Tm35cm+60cm=2m95 cm

4 Find the difference between 3 m 18 cm and 1 m 30 cm.

Im 18 cm =318 cm
1m30cm =130 cm

318 em — 130 cm = 188 cm
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Kilometers

Th ekllometer(km) ';s..c.nother. m of length

“'We‘use: _th_e'_ kl!ome_ter to_.: medsure Iong d;stcmces such cls the
ength of a road or the dlstcmce we trcvel from one place tp

1. Write 4 km 208 m in m.

4km=4x 1000 m
= 4000 m

4 km 208 m

=4000 m + 208 m

4 km 208 m = 4208 m

2. Write 7090 m in km and

7090 m=7000 m + 90 m
7 km = 7000 m

7090 m=7km 90 m.

s 9?"7’.""5) F;_”‘:’E':f Lemi  Primary Mﬁfhémdﬁés {Sﬂ_:‘nddfds Edition) Extra Praciice




3. Find the value of 1'km 206 m + 1 km 590 m.

1 km 206 m U5 2 km 206 m 20T 2 km 796 m

1 km 206 m + 1 km 590 m = 2 km 796 m

4. Find the value of 2 km — 1 km 207 m.

2km—1km =1km

|
s,
o
S
o
3

1000 m — 207 m

Tkm—-1km207 m =793 m
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1. Write 12 yd in feet.

12 yd = 36 ft

2. Write 15 yd 4 ft in feet.

-
Tyd =3 ft
15yd =15 x 3 ft

= 45 fc
15 yd 4 ft = 45 fc + 4 ft
N /

15 yd 4 ft = 49 ft

3. Write 134 ft in yards and feet.
134 ft=44 yd 2 ft BRET

© 2008 Marshall Hion} Extrer Practice 3




4 Write 2 ft 8 in.inii

2gd4ft+3gd5ft—59d9ft
8 yd

6. Find the value of 2ft—9in.




A water hose is 5 ft 8 in. long.

A rope is 1 ft 11 in. longer than the water hose.
(a) Find the length of the rope.

(b) Find the total length of the water hose and the rope.

Water hose

Rope'ﬁ

(a .
S5f8in. 1, 6f8in. 11 76 7in.

5ft8in.+1f1lin=7f7in. O

The length of the rope is 7 ft 7 in.

[Sftsm.iff_,uftsin.*_llh*u.?,fwin.}

O
5ft8in.+7fc7in. =13 ft 3 in. ©

The total length of the water hose
and the rope is 13 ft 3 in.




1. Write 1 mile in yd.

1 mile = 5280 ft
Tud=3ft
1760 yd : O

Joshua’s house Supermarket ~ School

The distance between Joshua's house and the school is
9 mi.




Name: Class: Date:

Exercise 1 : Meters

Centimeters
1. Write the missing numbers.
(@) 4m= cm
b) 6m= cm
(¢ 300 cm = m
(d) 900 cm = m
& 1Tmi10cm= cm
 Sm3tem= cm
(@ 723 cm= m cm
| (h)y 48cem+__ __  cm=1m
(i) Tm- cm = 25 ¢m
2. Fill in the missing numbers.

7m=
500 cm =
120 cm +

&m

m

cm=2m

2m=1mé62cm+

Tm55ecm+45¢m =

2m25cm +75¢cm =

(Singapore) Privals Limited:



2m77 cm +2m 88 cm = m cm
(b) 3m29cm+78cm= m cm
() 4m56cm+3m48 cm = m cm
(d) 56 cm+5mb54 cm = m cm
m cm

(e) 3m8ecm+1m92cem*=

4., Subtract.

(@9 2m47 cm—30cm = m cm

Im2cn—-2m3cm~=

() 7m2lcm—3m?9%cm

4m3dcm -1 m44cm= m cm

Em20ecm—-3Im40cm = m cm




Name:

Class: Date:

ilometers

Exercise 2 :

1.

2.

3.

Fill in the missing numbers.

(@) 3km= m

() 10 km= m

{c) 2000 m = km

(d) 5000 m = km

(¢ 1km305m= m

(fy 6007 m= km m
Add or subtract.

(@ 1Tkm300m+400m= km

(b) 2km310m+ 1km690 m= km
(¢ Tkm430m-210m~= km
(dd 4km8m~-1km90m= km

Write the missing numbers.

(@ 1km=350m+ m
(b) 750 m + m=1km
(¢ 470m+530m= km
(d) 1km- m = 640 m

m=1Ilkm-30m

- Primary Mathema |:c's: (S'm'{.tdu;r'd.s' Edi -




" Cinema

e

Supermarket _ .
Swimming pool -

(@)  The distance from the swimming pool to the zoo

is km m.

(b)  The cinemais m nearer to the mall than

Amanda’s house.

(¢ Thezoois km m further from

Amandd’s house than the swimming pool.

Amanda cycles to her school every morning and

cycles back home.
She cycles km m altogether each




Name:

Class: Date:

Exercise 3 : Yards, Feet
and Inches

1. Write the missing numbers.

(@9 5Syd= ft

(b) 87yd2ft= ft

() 308yd1ft= ft |
(d) 9ft= in. | '
() 6f10in = in. ‘w
(f) 9ft9%in. = in.

(9 36ft= yd fe

(hy 110 fc = yd ft

() 37 in. = ft in.

(M) 24 in. = ft in.

Fill in the missing numbers.

(@ 3fc+ fo= 3 yd
b) Syd =2fc+ ft
€ 3yd-2ft= fi

6ft—3ft=
5in. +
4 ft
2 fe
11 in. ft in.




Syd1fet+2ft

(b) 7yd2fe+2ft= yd ft

(c) 6yd1fe+3yd2fe= yd ft
(d) 5f11in.+7 ft= ft in.

(e 6ftbin* 6 in. = ft in.

(f) 4fc7in.+4ft8in = ft in.
(g 9in+2féin = ft in.

4, Subtract.

(a) 4yd1fi—2yd= yd ft

() Tydtfe-2ft= yd ft

(<) Byd1ft—7yd2ft= yd ft
(d 10fc10in.—6in. = fe in.
(e) 6ft3in—1ftédin = ft in.
(f) 3ft8in.—2ft10in. = f in.
(g9 1ft5 in.— 11 in. = ft in.

Fill in the missing numbers.
(@ 3ydi1ft+ ft = 4 yd
fr =7yd-1ft

5ft7in +

@ 2008 M Fshall Cavendish Inteinational (Sindapore



Class:

-Xercise 4

1. Fill in the blanks

(@ 1 mile =

:: _3 '. : Pn_zﬁ_qry Mﬁfﬁ_él}.‘l.ﬂll.('s: { Stundurds Etfllmn) Ex.l_r_u'. Pru;hc_é__ 3




in the blanks

ill

F

2

Happy Valley

Bright Town

The distance between Happy Valley and Coastal Town

.

m

The distance between Happy Valley and Bright Town

Primary Muthemutlcs'{ﬁlundards Edition] Extia Pracice 3
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Kilograms and Grams

The bag of onions weighs 2 kg 300 g.

It weighs 2300 g. 2kg =2 x 1000 g

2000 g
2 kg 300 g = 2000 g + 300 g

2008 Marshalf Cavandish Interfiationsl (Singapors) Private Limitad:. Primory




The bag of potatoes weighs 3 kg 100 g.

It weighs 3100 g. 3 kg = 3 x 1000 g

3000 g
3100 — 2300 = 800 3 kg 100 g = 3000 g + 100 g

The bag of potatoes is 800 g heavier
than the bag of onions.




Pounds and Qunces

 The pound(’b)andounce ;;-(:6;);:'5@@: other units of weight.

The weight of the bananas is 2 Ib 5 oz.

~

1lb=16o0z
2Ib=16x2

32 oz
2Ib5o0z=320z+5 0z

J

They weigh 37 oz

The weight of the bag of apples is 1 Ib 14 oz

1lb=16 oz
1lbi4o0oz=160z+ 14 oz

It weighs 30 oz

37-30=7

The bananas weigh 7 oz more than the bag of apples.

imaryHothematis {Stondrds Eiin




Word Problems

1 A bottle of chilli sauce weighs 1 kg 200 g.
A bottle of tomato sauce weighs 1 kg 450 g.
Each empty bottle weighs 450 g.
(@) How many grams of chilli sauce are there in the

bottle!
(b) How much heavier is the bottle of tomato sauce

than the chilli sauce!?

(@) 1kg200g~= 1000 g+ 200 ¢
1200 g

1200 g — 450 g = 750 g

There are 750 g of chilli sauce in the bottle.

?

tkg 200 g
— —‘\r——A—*W:

bottle of |
chilli sauce i

tomato squce
A v

kg 450 g

1kg450g—~1k9200g=250g

The bottle of tomato sauce is 250 g heavier than the
bottle of chilli sauce.



2. A chicken pie weighs 11 oz:
A pizza is 8 times as heavy as the chicken pie.
(@) What is the weight of the pizza in pounds and ounces?
(b) What is the total weight of the chicken pie and pizza
in ounces?

11 oz

chiclken pie

pizza

K1 Ib =16 oz
88-16=72

= 88 oz 72 - 16 = 56

=51b 8 oz 26— 16 = 40

40 - 16 =24
24-16=8

| can subtract 16 five
times from 88 and
have 8 left over.
So0,880z=51b 8oz
- /

O

The weight of the pizza is 5 Ib 8 oz

(b) 11 oz + 88 0z =99 oz

The total weight of the chicken pie and the pizza
is 99 oz.

mary Matheratcs {Standords Editon) Exira Pracice 3




3. Lilian is 12 kg 268 g heavier than Jean.

Jean weighs 35 kg 380 g.
Lilian is 5 kg 230 g lighter than Susan.
Find Susan’s weight in kilograms and grams.

Lilian :
12kg 268 g

Jean|

\ —

5Kkg230g
=

35 kg 380 g + 12 kg 268 g = 47 kg 648 ¢

Lilian weighs 47 kg 648 g.

47 kg 648 g + 5 kg 230 g = 52 kg 878 q.

Susan’s weight is 52 kg 878 g.

&2005 Marshali Cavandish 1




Class: Date:

Exercise 1 : Kilograms and
Grams

1. Write the weight of each of the following.

-—9




Write in kilograms 3
(@) 1025g= kg g |
(b) 2100g= kg g
(c) 5007g= kg g
(d 8050g= kg g
3. Write in grams.
(@) 1kg300g= g
(b) 3kg80g= g
() 4kg9g*= g
(d) 5kgl125g~= g
(e 6kgl0g= g
7kglg=
the missing numbers.
(@) 630g+t g=1kg
(b) g+ 950g=1kg
(c) 805g+195g~= kg
(d) 1kg- g=270g

(e) 1kg-540g= g
kg — 360 g = 640 g
g

harshall Cavendish Internafional (Singapore




5. Fill in the blanks.

C
. 2 kg 1 kg 990 g

-

e

is the lightest.

is the heaviest.

Bag __is heavier than Bag C.

The total weight of Bag A and Bag B is

kg g.
BagBis g heavier than Bag C.

The difference in weight between Bag

and Bag _ _is 1 kg 150 gq.

* Primary M'u:ihémqiic's (St_dri'ddrﬂé E.di!io_n) Ek_:m'l"rat_ﬁé 3




6. Do these.

(a) () Total weight of the box of tissue
and the bag of mixed nuts

.
e

(i) The weight of the bag of
mixed nuts is 250 g.

Weight of the box of tissue

vt
ey

(iii) The bag of mixed nuts is
than the box of tissue.

() () Totdl weight of the pineappie
and 3 apples

(i) The pineapple weighs 2 kg.

Weight of the 3 apples

Mr. Ricci paid $5 altogether.

Cost of the pineapple

(i) The cost of the 3 apples is $1.00.

g heavier




-Xercise 2 ¢

Do these. Show your work clearly.
You may draw models to help you.

(a)  The weight of an empty vase is 2 kg 300 g.
Mary puts 10 stalks of flowers into the vase.
The weight of each stalk of flower is 40 g.
What is the total weight of the vase and the flowers?

(b)  Caroline weighs 22 kg 550 g.
Her sister is twice as heavy as Caroline.
What is her sister’s weight?




(¢ Alemonis8 times as light as a cantaloupe.
The cantaloupe weighs 4 kg 320 g.
What is the weight of the lemon!

(d) A chicken weighs 2 kg 800 g.
A turkey weighs 6 kg 230 g.
How much heavier is the turkey!
What is the total weight of the chicken and

the turkey!

There are 9 oranges in a box.
Each orange weighs 325 g.

The box of oranges weighs 3 kg 485 g.
Find the weight of the empty box.




Exercise 3

Write in pounds and ounces.

(@) 18oz

(b) 25 oz

(¢ 160z

Write in ounces.

(@9 4b=__

b) 2IbSoz=___
(c) 61lb10 oz

(d 3ib12oz

(e} 5ib14o0z
(f) 9béboz=__

Write the missing numbers.

(@@ 2o0z+___  _oz=11Ib

b)) o0z +200z=21b

(c) 24o0z+240z=_ ______Ib
4lb-__ o0z=520z

5bb-50z=___ oz

_  Ib=-30z=2% 0z

. ngapore) pnvat ..in.qitéa: .::_ 2 BECEERARE i dsEdmoﬂ)Ex"ﬂP{ud[(




4.

Fill in the blanks.

11b3 oz

(@)  ltem

ltem A weighs

() lem

(d) lkemBis —

and ltem

OZ.

is lighter than ltem A.

The difference in weight between ltem

The total weight of all three items is

[/
B C
7 oz 20 oz

is the heaviest.

oz lighter than item A.

is 1 oz.

“© 2008 Mars|
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Liters and Milliliters

The !iter (’6’) cmd mllllhter (ml) Gre umts of CGPGCitg.’?

The capacﬂ:g of a contqmer ;s the c;mount it ccm 'ho!d |

1. Write 4069 ml in £ and ml.

4069 mi = 4000 mi + 69 ml

4 £ = 4000 ml
4069 ml = 4 £ 69 ml

2. Write 8 € 134 ml in ml.

8 £ 134 ml = 8134 ml

8¢ =8 x 1000
= 8000 m!
8 € 134 ml = 8000 ml + 134 ml

©2008 Marshall Caveridish intemational (Sirigapore) Frivate Limited . -
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Gallons, Quarts, Pints and Cups

The gallon (gal), quart (gt), pint (pt) and cup (c) are other
units of capacity. PR

We usually measure a bigger amount of water in gallons
and quarts. S

1 gallon 1 half-gallon 1 quart
(gal) (qt)

 Primary Mothematics {Stondards Edition) Extra Practice 3 y Prival




1. Write 2 gal 3 gt in qt. -

1 gal =4 qt
2 gal =8 qt
2gal3qt=8qt+3qt

2gal3qt=11qt

2. Write 18 gt in gal and qt.

1 gal =4 qt
18+4=4R2

18 qt =4 gal 2 gt

@ 2008 Marshall Cavendish Intérnational (Sihgapore) n\iateufnlteq S Lo Pfim'n'r.y Mm}lémmi(s (Standa




3. Write 10 pt 4 cin c.

10ptdc=24c

4. Write 35 cin pt and c.

35c¢=17ptlc

S
e

STy
-



Name:

Class:

Daie:

xercise 1 : Liters an

illiliters

(a)

(d)

i~ 1000 mi

(b)

500 ml
400

300

1. How much water is there in each container?

()

1000 ml

800

~ 600

1400

mil

(f)

500 ml

400

--300

200

ml




2. Fill in the blanks.

(a)  The above container can hold £ ml of water.

(b)  The capacity of the container is £ ml.

(c)  The bucket above can hold twice as much water ds
the container.

mi.

The capacity of the bucket is

The capacity of this jug is 2 liters.

The bucket holds _ £ __ ml more
water than the jug.

= S
-

e
Sie s
V



3.

Write in millilicers.

(@)
(b)
()
(d)

1€5ml=

1€ 200 ml=
24615 ml=
3525 ml=

Write in liters and milliliters.

1600 ml

2895 ml

3005 ml

3070 ml

Add or subtract.

(a)
(b)
(c)
(d)

1 € 200 ml + 450 ml

3 € 650 mi + 250 ml

1€710ml+ 6 £5ml=

34170 ml+2¢€ 260 ml=
4€65ml+3¢307 ml=

3€620ml—-720ml =

4 ¢ 450 ml — 1 € 680 mi
5€970 ml — 2 € 860 ml
6C5ml—-3€152ml=

dish Intérnational (Singaporee) Privaté Limited © .11 " 17
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6. Do these. Show gou% work clearly.
You may draw models to help you.

(@)  Mr. Ray poured 9 ¢ 500 ml of oil equally into 5 bottles.
How much oil was there in each bottle?

(b) A fish tank has a capacity of 7 € 470 ml.

It contains 4 € 385 ml of water.
How many more milliliters of water are needed to fill

up the tank?

(c)  Rachel has 6 £ 950 mi of fruit juice.
She needs 8 £ 400 ml of fruit juice for her party.

How much more fruit juice does she need?

avendish Intsrnational (Singapora)
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Name: Closs: Date:

Gallons, Quarts,
and Cups
1. Write in c.
(@) 19pt= c
b) 23ptic= c
2. Write in pt.
(@ 8qt= pt

(b) 10 qt1pt=

Write in qt.
(a)
(b)

12 gal =

33 gal 3 qt =

Write in gal.
(@)
(b)

24 qt

48 qt




Add or subtract.

(@) 2qclpt+ 11 qulpt= qt pt
(b) 2gal2qt+2gal2qe= gal qt
(©) 2ptic+llic™ pt c

(dy 617 pt— 165 ptlc*= pt c

(e) 13 galil qt—-7gal2qt= gal qt
(fy 7qt—-7pt= qt pt

6. Fill in the blanks.

Basin

Bottie

3 qt

The basin holds
than the bottle.

(b)  The bottle holds qt c less water

than the jug.

(c)  The totdl capacity of the three containers is

qt c.

- 'ézoés'hfla'rsﬁall Cavendish internatiuhal (S'gn.gap.oré




7. Do these. Show all your work clearly.

(@) A container contains 2 gal 3 gt of water.
1 gal 3 gt more water is needed to fill up the
container.
What is the capacity of the container?

(b}  Kathy had 8 gal 3 gt of orange juice. N
She gave 4 ¢ of juice to Tyrone and put the |
remaining juice equally into 4 containers.
How much juice was there in each container?
Give the answer in gallons and cups.

© 2008 Marshall Cai



Mrs. Beck bought 4 cartons of milk.
Each carton contained half a gallon of milk.

If she used 2 pints of milk, how much milk did she
have left?

Give the answer in gallons and pints.

(;a_ven_dush:lnté_rr_iational_ (Singapore)
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Dollars and Cents

| The dollar ($) and. cent (¢) are units of money.
5_:.-_.}_100 cents is’ needed to mcxi(e one doller o

We write 6 dollars 20 cents as $6.20.
The dot (.) separates the cents from the dollars.

1. Write $12.08 in cents.

8 $12.08 = $12 + 8¢
$12.08 = $1208¢ $12 = 12 x 100¢

= 1200¢

2. Write 367¢ in dollars and cents.
367¢ = $3.67 '

367¢ = 300¢ + 67¢
OO $1 =100¢
$3 = 300¢

008 e_rsﬁa.l_l('?a\.ier!disﬁ!ntéma al (3



Addition

‘We add dlfferent amounts of money in-the same'de_‘we-qdd

'-_:whole numbers, o e B
~Then we put in the dot c1t the rlght plqce, to separate the
'_'dollars ‘and the cents.’ o

Find the value of $4.05 and $26.85.

$26.85 —— $30.85

$4.05 + $26.85 = $30.90

We can also add like this:

$26.85
+$ 4.05

$30.90

" 2008 Marshall Cavondish Irtemational (Singapors)
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-We subtrctct dlfferent amounts of moneg ln the scme wag
W_e SUbtmct whole numbers ST e R |
Then We put m the dot to sepamte the doéidrs and the cent

A wallet costs $32.50.
A pair of shorts costs $12.90.
How much more does the wallet cost than the pair of shorts?

$32.50
A

- wallet

) <

- $12 — 90¢

$32.50 ———— $20.50 — $19.60

he wallet costs $19.60 more than the pair of shorts.

Cavérdish Infernational (Singapore} Private Lirited”



Lily saves $25.50 a week.
How much does she save in 3 weeks!?

$25.50 x 3 = $76.50

Lily saves $76.50 in 3 weeks.

2. 3 pounds of minced meat cost $9.60.
What is the cost of 1 pound of minced meat?

$9.60 = 960¢

960 + 3 = 320

320¢ = $3.20



Class:

xercise 1 : Dollars and

1. Write the amount of money in each set.

(@)

=)
>
-
m




2. Write each amount of money in figures.

(a) | two dollars ninety-five cents

(b) | ten dollars twenty cents

(c) fourteen dollars fifteen cents

(d) | twenty-three dollars sixty cents

(e) | thirty dollars seventy-five cents

() ninety-four dollars fifteen cents

(9) five hundred twelve dollars five cents

four thousand, forty dollars

Write each amount of money in words.

[ 5.50

$10.10

$57.75

$83.40

$261

" @ 2008 Mérshall Cavendsh international (Singapore) Private



=xercise 2 :

1. Write the missing numbers.

(@)

-
e

Ty

o
.
-

(d)

+$30

$5375 +$30.55

2008 Marshall Cavendish Intemational (Singaiors) Private Limited 11 " L 'Pfim&iy'Mdth'emdlits"(Siunddzd_é Edition) Extra Praciice 3




(@) $1.90 + $4.10 =

(€ $4.85 + $5.15 =

(e) $8.05+ $9.95 =

(g) $12.40 + $0.99 =

() $3.95+ $41.15 =

(b) $3.40 + $5.60 =

(d) $6.75 + $7.25 =

(f) $12.55 + $2.45 =

(h) $1.99 + $15.50 =

() $36.70 + $2.95 =

Pri:m_u'n.t_ Mui_he:m'dﬂ.c_é (Sﬂmdurcis Editiq_n) Exiro Prudnce?t :
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4. Complete the bills.

Shoes
$12.99

Racket

$11.20

Soclks
$2.35

ushirt
$5.45

$15.60

CD-player
$50.50

(@) 1 CD-player
1 pouch
Total

&5 A B

(b} 1 pair of shoes
1 pair of socks
Total

B A B

1 T-shirt
1 pair of jeans
Total

3 A

(d) 1 racket
1 basketball
Totdl

©“h B o5

1 pouch
1 CD-player
1 racket
Total

© 5 A R

(f) 1 pair of jeans
1 pair of shoes
T basketball
Total

& 5 A B

Primary Mathemalics (Stondards Editien) Exira Pracfice




Show all your work clear

ly.

Do these.

5

.

i1sd

Adam saved $8. He saved $0.80 less than L

How much did Lisa save?

(@)

65 left.

d she have ot first?

t of stamps, Jane had $5

ed
[ By
o 2
£ 0
3
o £
i
| &
25
L0 E
g 2
$ 0
< T
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()

(d)

Sam has $24.25 in his coin bank.
He puts in another $30.25.
How much money does he have in his coin bank now?

Tony bought a dictionary and a storybook.

The storybook cost $4.50.

The dictionary cost $5.25 more than the storybook.
How much did the dictionary cost?

Prirary Mh_ﬂiemﬁﬁcs (Standards Ediﬁ[.)'l:l)_ Extr.u_.?.ruchce'_3



Andy has $16.15. Emily has $19.36.
How much do they have altogether?

Mr. Lee gave $5.00 to David.

John was given $2.30 more than David.
How much did Mr. Lee give David and
John altogether?

& 2608 Marshall Caverdish I srmational (Smgapore) Private il




Class: Date:

=Xercise 3 : Subtraction

1. Write the missing numbers.

(@)

2008 Marshall Gavendish Interhati




2. Subtract.

—
(a) $4—$1.50 =

(b) $7 -$530 =

(©) $20 - $3.40 =

(d) $30-$775=

(e) $70 — $5.25 =

(f) $50 — $23.80 =

(g) $90 — $74.10 =

(h) $80 — $50.55 =

() $18.15 - $0.95 =

() $20.05-$1.99 =

L

3. Subtract.

()
$3.25
~ $0.85

$4.50

o @'2008 Marshall Ca'vgarid.‘zsh.'-lnteynatluh'ai
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| 4. Do these. Show all your work clearly.

(@)  Mr. Ward bought a watermelon.
He gave the shopkeeper $10.
How much change did he get?

(b)  Jamie has $9.65.
She wants to buy a dress that costs $18.50.
How much more money does she need?

Sean’s father gave him $16.20.
Sean spent $8.55 on some books.
How much money did he have left?




Bill has $2.75.
His father gives him $13.50 more.

Bill then uses the money to buy a dictionary which
costs $14.30.

How much money does Bill have after buying

the dictionary?

(e)  Sally has two coin banks.
The first coin bank contains $20.07 and the second

one contains $30.15.
Sally takes $3.19 from the first coin bank.

How much more money does the second coin bank
now contain compared to the first one?




Exercise 4 :

1.

Find the value of each of the following.

(@)

150¢ x 5

(b) 280¢ x 4

()

$12.00 x 3

(d) $33.60 x 6

Find the value of each of the following.

(@)

320¢ + 8

(b) 5400¢ + 9

(©)

$8.40 = 7

(d) $45.18 + 9




3. Do these. Show all your work clearly.

(a)  Lucy spent $10.80 on a present.
David spent 6 times as much as Lucy on another.

How much money did David spend?

(b) The total cost of 9 bags is $77.40,
Each bag costs the same amount of money.

What is the cost of one bag?

rdlish Tr fnatiorial (Singapore) Prival
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1 Wﬁdﬁ.'e_?'ihqlves =

1 whole = 3 thirds =

1 whole = 4_'f_o"u'r_'.ths_ =

'.:iﬁlw Dld W IR

{ whole = 5. ﬁfths =

1 out of 6 equal parts is colored.

of the circle is colored.

O | =

; = one-sixth

{ «—— numerator
1 whole = 6 sixths 6 «—— denominator

] 5}
6 and ; make one whole.
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'_'ﬁ-"For frcctions wn:h a co_mmon denommator, the
}i_fractzon w;th th _greatest' numemtor IS the greqtest

Arrange the fractions in order.
Begin with the smallest.

o e =

We compare the size
of the shaded parts.

is the greatest.

is the smallest.

Arranging the fractions in order beginning with the

13 5
smallest, we have 7, 7, 7.

- Primary Methiematics {Standards Edition] Exira Practice 3 ©:2008 Marshall Cayendish Internatignai (Singapore) P



Arrange the fractions in order.
Begin with the smallest.

We compare the size of
the shaded parts.

is the greatest.

is the smallest.

Arranging the fractions in order beginning with the

smallest, we have

111
9' 4’3"

ingapcre] Privats Lim




1

Equivalent Fractions

1
2
1 1
4 4
1 1 i
6 6 6
1 1 1 1
8 8 8 8
L L L L L
10 10 10 10 10
0T T D I S T U g T e
w2l il | w212 12y 2] 12 12

From the above bars, we can see that the following fractions

are equal. )
1_2_3_4_.5 _6 !
2 4 6 8 10 12

Equivalent fractions have
different numerators and
denominators.

But they are equal in value.

N

4 5 & : .
g 10 10 are equivalent fractions.

L & 2008 Madshial Caveridish irisraational (Singapore) Prive
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To ’Fnd an equuva!ent fmctlon We can elther muitlpig or dlvsde
the numerator cmd denommotor bg the scnme number :

Find an equivalent fraction of ; and "1% :

%3

Y

Adding Fractions

_We can onlg add fractlons wrth G common denommator;-
: '.-We onlg cadd the: numemtors o R o

Mrs. Lewis drank 1 " liter of apple juice on Monday.
She dmnk liters of apple juice on Tuesday.

How much apple juice did she drink altogether?

[‘I fourth + 2 fourths = 3 fourths]




Subtmcting Fractions

denorminator.

George gave 2 of his marbles to John.
d 5

What fraction of his marbles did he have left?

1 whole = 5 fifths
5 fifths — 2 fifths = 3 fifths

of his marbles left.

@ 2008 Marshai Cavendish Infertiationtal (Singapo
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Fraction of a Set :

WO
OO0

L
-

3 out of 12 fruits are pears.

3 ,
17 of the fruits are pears.

3 out of 12 fruits are mangoes.

3

5 of the fruits are mangoes.

6 out of 12 fruits are apples.

“1% of the fruits are apples.

08 Marshall Cavendis Interalional {Singapore) Frivate Lirie



There are 10 balloons.
3 of these balloons are red.

4 of these balloons are green.
The remaining balloons are white. ;
What fraction of the balloons are white!?

Yy

green balloons red balloons white balloons

10-3-4=3

% of the balloons are white.

2. What is g of 102

/" —— 1 part out of
5 ———» 5 equal parts

Divide 10 into 5 equal

groups.

of 10 =12 One group is 1 of 10.
K 5

[




. Fractions and Money
10 dimes make a dollar.,
100 pennies make a dollar.
4 quarters also make @ dollar
1 dlme._ﬂ 10 of a dollar -
T penny = 7pg of a dollar-
: | |
1 quarter =  of a dollar
dime pe?hng qu‘dri:er
|
: half-dollar  nickel a dollar note
1. What fraction of a dollar is 6 dimes!?

A dollar = 10 dimes

LN o

6
10 : . _ 6
6 dimes out of 10 dimes = 10

6 dimes is g of a dollar.

irshial Caverilish lnfstmational (Singapore) Private Uiited * * 0 50 pimary Mothematics (Standards Edition] Exti




What fraction of her coins are quarters!?
(b) What fraction of her coins are nickels?
(c) What fraction of her coins are dimes?

There are 12 coins altogether.

3 _1

(@ 12 =3
—Ji— of her coins are quarters.
2 1

(b) 12 =%

1 . :
¢ of her coins are nickels.

5 out of 12 coins are dimes.

5 ) .
12 of her coins are dimes.

sary Mathematics {Standards Edition) Bt o {1 g 2008 Merstil Cavendish Infemational (Siigapore) Priva



Class:

T Name:

Exercise 1A : Fraction of a

1. Match the circles to the correct fractions.

(a)

2. Color each figure to show the given fraction.

(b)

Marshall Cavendist Intsmational (Srigapore) PAvats Liited L  Primary athemafics (Standards Edifion) Exira P
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is shaded

e
o
jw}
i
[75]
(]
i
b
e
o
o
RS,

; /.«%v. :

What fract

°

3
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Name:

action of a

Fr

@
]

@
Bm

Exerc

Circle the greater fraction.

1.

(@)

I~ | g

LY O

- PrEr_n'u:ry Mm‘hemun : (.St.uht.ic‘:'r'éi's. Edition) Exira _F'rn'c'rict%S

Intermationat '(Sir'wg'a'pdre)_ Ptiviste Lmited_




@ 2008 Narshall Cavendist Infemationsl (Singapore) Private.

*

1on

3=
(9
)
.
(S
L
9
T
=
[74]
@
=
[
2
LI
=

C

2
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3.

Circle the greatest fraction.

@ s ;

Circle the smallest fraction.

1 1
4 3 ? 2



5. Arrange the numbers in order, beginning with the greatest.

1T 1 1
@ 7. ¢ 3

®) 1 5
© 133
@ 5 §
© 5037

6. Arrange the numbers in order, beginning with the smallest.




Name: Class: Date:

Exercise 2 : Equivalent Fractions

1. Match each pair of equivalent fractions.

3
4
s B

<>

2. Write the missing numerators.

1
2

difion] Extra Practice.



3. Write the missing numerators and denominators.

|2
\A

(b)

(d)




5. Write the equivalent fraction for each of the following.

(@)




iy
oy
S
..m
Q L
= &
J =
U £
) 5
i 5
) :
i 50
9, 5
ol m
-
9 8
o :
¥
o
.
B
I
o
L
|
2z
s
\=a
()

implest

175]

H
n% T I

o
= |0 0 =
e N
b
e g P P
W o ffa) v

g g S’

Erlmury.j‘.ﬁ'qthemqti_cs .Smndlifﬂs__Ediﬁen)..Ek_:.rdj Pracice 3

7




Name: Class: Date:

Exercise 3 : Adding Fractions

1. Add.

(@ 35+

2 = (b) ;;';+

o[
O
|




2. Do these. Show all your work clearly.
2
(@) Josh ate ¢ of a pizza.
3
Mary ate ¢ of the same pizza.

What fraction of the pizza did they eat altogether?

Mrs. Li spent g of her money on vegetables and % of
it on 2 kg of prawns.

What fraction of her money did she spend

altogether?

- Pr_lmqr_y:Mqi'hemuﬁ:cs'(_Sfand_urd_s Edifion) Extra Pracfice 3. G @'2@83Mam"‘?“ba‘.’é"?_‘?h nisational (Singepo




Class: Date:

Xercise 4 : Subtracting Fractions

1. Subtract.

(@ 3

°“5'”aif.sha"'Cévéﬁdis.'?'!nfé.mafwf".a_"(ls.i'ﬂgéwei:"ri\?a'é'“miﬁfe’d“ : . Primory Mothematics {Standards Edifion) Exira Practice 3 :




2. Do these. Show all your work clearly.

8
(@) Cloth Ais 73 yd long.
5
Cloth Bis 715 yd long.

How much longer is Cloth A than Cloth B!

(b)  Diane’s bag weighs % kg.

George’s bag weighs % kg.

How much lighter ‘is George’s bag than Diane’s bag?

© 2008 Marshall Cavendishlntens ohial (Singapcre} Priva



Name:

Class: Date:

Exercise

¢ Fraction of

1.

Fill in the blanks.

(@)

QOO0

What fraction of the shapes are triangles?

What fraction of the toys are toy cars!

priniary Mathomatis (Stendurds Ed




2. Fill in the blanks.

2

5 of 30.

(o)  Find
(b)  Find 3 of 64.
(c) Find 5 of 81.

(d) Whatis 5 of 632

(€ Whatis 5 of 1442

(  Whatis ¢ of 1207

- Prlni@ry-.Mélhémql_ks. ('S%nﬂdﬁrds E_':d:'_hﬁ_n) Exlru Prodiced




MName: Class: Date;

xercise 6 : Fractions an ney

1. Fill in the bianks.

(@)  What fraction of a dollar is 80 pennies!?

(b)  What fraction of a dollar is 6 dimes!?

()  What fraction of a dollar is 3 quarters?

2. Fill in the missing numbers,

(@) == of the coins are nickels.

of the coins are dimes.




Write each amount of money as a fraction of a dollar.

(@)  $0.35 (b) $0.80

$2

Danny had $10. He bought a doll, a toy aeroplane and
a toy car.

(ad)  What fraction of his money was spent on the doll?

(b)  What fraction of his money was not spent?

Primary Muihemq'iits-.'{ﬁﬁl’hdu‘nﬁ Ed_ii'it.l_ﬁ}'fx‘fr'{i Pracice 3 - S g N S ©'2008 Warshat Cavendish 'f:érna._li?na.i (singapore) Priv




T

Unit 11 : T

@ o

Hours and Minutes

hour (h) and minute (min) are units of time.

a. m mecans after 12:00 midnight and before 12: 00 r&oon:!

p m. mecms after 12:00 noon and before 12:00 mldnlght.;__

7:45

We read 7:45 as seven
forty-five.

745 is 15 minutes
before 8 o’clock.

It is fifteen minutes

to eight.

9215

. ~
We read 915 as

nine fifteen.

9:15 is 15 minutes
past 9 o’clock.

It is fifteen
minutes past nine.




Kenny started doing his homework at 7:45 p.m.
He finished doing it at 9:15 p.m.
How many minutes did he take to complete his homework?

(1 h = 60 min

1h 30 min O
!, — O

]
|
7:45 p.m. 845 p.m. 915 p.m.

He took 1 h 30 min to complete his homework.

1 h 30 min = 60 min + 30 min
= 90 min

He took 90 min to complete his homework.

2. Philip started swimming at 820 a.m.
He swam for 1 h 45 min.
What time did he stop swimming!?

40 min 1h 5 min

| 1 ]
| 1 L

8:20 am. 9:00 a.m. 10:00 10:05
am. a.m.

He stopped swimming at 10:05 a.m.

Primury-M'ﬁihemdt éﬁ(Sfﬁrﬁdurds:Edlizon} Extrd Prumce_&- _ |




Other Units of Time

The second (s) is Gnother umt of tlme

.The gear month week Gnd dcsg ore other.umts of time:

r = 12 months

1 week 7 dqgs

(@) Write 8 min 30 s in seconds.

;- ™
8min 30s
8min 30s

8 min = 480 s
\ J

8min 30 s =510 s

(b) Write 125 s in minutes and seconds.

125 s

125s=2min5s




2. (@) Write 2 years'5 months in months.

2 years 5 months

\

24 months 5 months

2 years 5 months = 29 months

(b) Write 20 months in years and months.

20 months

/N

12 months 8 months
1 yr = 12 months

20 months = 1 year 8 months

3. {a) Write 4 weeks 5 days in days.

4 weeks 5 days

28 days 5 days
1 week = 7 days

4 weeks 5 days = 33 days

(b) Write 41 days in weeks and days.

41 days

35 days 6 days

41 days = 5 weeks 6 days




Name: Class: Date:

=-xercise 1A : Hours and Minutes
1. Fill in the blanks.

minutes after o’clock,
minutes past
minutes after o’clock.
minutes past
minutes before o’clock.
minutes to
minutes before o’clock.
minutes to




(@) 2 h 30 min after midnight is

(b) 3 h 40 min before midnight is

(c) 4 h 15 min after noon is

7 h 45 min before noon is

(e)

(f) 1 h 50 min after noon is

10 h before midnight is

3. Write the time using ‘a.m.” or ‘p.m.’.



min later

>
=

min la>
—  _h___ min Io>

h min |q>




5. Fill in the blanks. :

(@) The time is 8:30 a.m.
35 minutes later, it will be )

(b) The time is 9:40 p.m.
40 minutes later, it will be i

(c) The time is 4:50 p.m.
20 minutes later, it will be

(d) The timeis 6:15 p.m.
2 hours 30 minutes later,

it will be

The time is 10:45 p.m.
1 hour 25 minutes later,

it will be

iflﬂﬂ .:- ridice 3 ; . L . @ 2008 Miarshall Cavend



1. Do these. Show your work clearly.

(a) A television program started at 6:45 p.m. and lasted
35 minutes.
What time did the program end?

The program ended at

(b) Ryan went to bed at 11:00 p.m.
He woke up at 6:30 a.m.
For how long did he sleep?

He slept for

(c) A bank opens from 8:30 a.m. to 4:30 p.m. every day.
How many hours a day is the bank open?

The bankisopen . hours g dag.




2.  Write the missing numbers.

(a) T h 5 min (b) 2 h 35 min *
i h 5 min 2h 35 min |
min min
(© (d) P5
195 min 90 min
180 min 15 min 60 min 30 min |
h  min h  min

3. Fill in the blanks. |

(@ Th40min=____ min

(b) 2h55min=___  min |
(¢ 3h25min=__ min ‘
(d) 4h5min= min

() 95 min = h min

(f) 110 min = h min

(g) 135 min = h min

285 min

”Www%%
~
S



(@ 1 h 10 min + 25 min = h min

()  2h 35 min + 15 min = h min

(c) 1 hS5min+1h30min = h min

(dd 2h40 min+2h 25 min = h min

(€ 3h25min+ 1h 35 min= h min
5. Subtract.

(@ 1h35min-~ 15 min = h min

()  2h 10 min-20 min = h min

(€ 2h45min—-1h5 min=_ h min
(d) 3h20min—1h55min = h min
(€ 4h40 min—2h 45 min = h min

6. Do these. Show all your work clearly.

(a) Ashley started cleaning her house at 8:15 a.m.
She cleaned for 2 hours and 30 minutes.
What time did she finish cleaning her house?

gapore) Private Litnited . 1




(b) Emily spent 1 hour 20 minutes doing her Mathematics
homework and 1 hour 55 minutes doing her English
homework.

How much time did she spend doing all her homework?

(¢) Mrs. Coles took 1 hour 15 minutes to drive from her house
to the airport.
Mrs. Ray took 55 minutes to drive the same route.
Who took a shorter time?
How much shorter?

(d) A track meet started at 1:45 p.m. and ended at 4:35 p.m.
How long did the track meet last?




Name:

2.

Exercise 2 : Other

Write the missing numbers.

(@) 52 seconds I + seconds

(b) 1 minute seconds

Write the missing numbers.

(a) 3 min 25 s

3 min 25 s

\

Fill in the blanks.

1 min 25 s
2 min 35 s
3 min 10 s
115 s
165 s
240 s

ial] Cavendist Intarmatian gapore) Brivats Limited - & © -

1 minute

41 seconds




4, Match.

(a) |2 years 4 months (b) |1 year 10 months

22 months | | 28 months | | 37 months | | 33 months

(¢) |2 years 9 months (d) | 3 years 1 month

5. Fill in the blanks.

(@) 2years 11 months = months
(b) 28months=___ years ______ months
6. Match.

{(a) /3 weeks 3 days / (b) / 2 weeks 1 day
\ 15 days \ 24 days \ 11 days \ 26 days
© / 1 week 4 days / (@) /3 weeks 5 days

7. Fill in the blanks.

(a)
(b)

2 weeks 6 days = days

22 days = weeks . day




Angles

A polggon is. 0 closed ﬁgure Wlth stnght sides. So, CI circle is
not a polggon Ang two sides of a po!ggon form cn cmgle
A polggon hc!s as mcmg sudes cxs angles

Polygon NMumber of sides Number of angles

triangle

A 3 3

quadrilateral

4 4
pentagon
O 5 5
hexagon

Q 6 6

octagon

© 2008 Marshall Cavendish intam




Right Angles :

A rectangle and a square have 4 right angles each.

N N [T
Rectangle Square

We can make a right angle by folding a piece of paper
twice as shown below:

Quadrilaterals and Triangles

These lines intersect. These lines are parallel.
They will never intersect.

Ui © 2008 Marshal Gavendish Intematianal (Singapore) Private Linited:




ﬁ'_:.'A qucldra aterca! |s c: polggon Wlth 4 sades:._:::'”:' e
irallelog . quqdrllqteml tth:h'c:s p'alrs of SldeS_:'-_:;

thCIt qre pcmllel '

i,

parallelogram

* A hombus is o paralelogram with 4 aqual sdes

rhombus

A triangle does Hot have paralel sides.

We name triangles as follows:

Triangle Number of Number of
equal sides equal angles

equilateral

A 3 3

isosceles




! A i«ig.ht' tﬁangie. is .G.'-'.'_lu?;.ﬁngle Wlth q..rig;ht .G ' g .

B it ]
Isosceles right Scalene right triangle
triangle

Solid Figures

vertex

edge

face

A rectangular prism has 6 faces, 12 edges and 8 vertices.

ali s..(S!'u.ndufd.s Edi _on]‘Eifiu Pro ii.c'f.‘, 3



xercise 1 : Angles

1.

Complete the table below.

Figure Number of sides Number of angles




2. Check (¥) the box below the figure if it is a polygon.
(@) (b)

3. Fill in the blanks.

How many angles and sides does each of these
polygons have!

(a) quadrilateral

angles

sides

(b) octagon

Primary Mathematics {Standards Ediimn)_ Extro Practice 3 il 02008 Marshall Cavendish Infermationa (Singapora) Private
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Exercise 2 :

1.

Complete the table below.

Figure

Number of
sides

Number of
angles

Number of
right angles

L | m |0 O w|>




2. Which of the following figures have at least one angle
that is greater than a right angle!?

Figures

G 2008 Mar_shéll Cavendish ZIIrgte_rnati'bnlal (Si.r}gapb oy:Brivate Linif
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Class: Date:

Juadrilaterals
and Triangles

1. Check (v} the box below each figure

(@)

]

© G @ Q
|

ya
]

L

2. Which of the following quadrilaterals have 2 pairs of
parallel sides!? |

A

square

SRR

rectangle trapezium

A [T

triangle

Quadrilaterals

semicircle rhombus

if it is a parallelogram,

Singapore). Private £




3. Name the triangles. -

(a)  This triangle has 2 equal sides. |

triangle | |

(b)  This triangle has 3 equal sides.

triangle . (

(¢)  This triangle has no equal sides.

triangle

4. Use the words in the box to fill in the blanks. |

right-angled isosceles right-angled scalene

equilateral scalene |

(a) This triangle has one right angle and two equal sides.

triangle

(b) This triangle has one right angle and no equal sides. )

triangle




Name:

Class: Date:

xercise 4 : Solid Figures

Name the solid figures.

(@)

TN (b)
N




rigapire) Private Limi
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vertices

.

vertices.

.

vertices.

@ 2008 Marshall Caverndish Intematinal (£

faces,

edges and

°

1%
U
<
B
=
o
|
=
A
b
8
5
D
<
g
Gt
o
@
-
<

A cylinder has

in the blanks
A cube has
edges and

Name the solids that are used to make the object below

The object is made up of a

F

(a)
(b)
(©)

2

-
: i




eter and Volume

Areaq

The spc:ce enclosed bg the sides of a f‘gure is its ared.
The squczre centlmeter and squcsre mch are umts of qrea

Shape A

Shape A = 8 square units
Shape B = 8 square units

Shape C = 10 square units

Shape B

Each [:’ is 1 square unit.
Each V is % square unit.

Shape C

Each D is

1 square unit.

Shape A and Shape B have the same area.

Shape C has a greater area than Shape A and Shape B.




This is a 1-cm square. -

1 cm 1

B

1 cm

lts area is 1 squdre centimeter.

A 3-cm square is made up of nine T-cm squares.

3 cm ,

3 cm

1 cm |

1 em :

The area of a 3-cm square is 9 square centimeters.

Each side of this square is 1 inch long.

1 in.

square inches.




Perimeter

i l_ff_The d.stqnce,around a Fgure is the perimeter of the ‘f‘gure.
| -"::'_The centl'mete"__ and fnch are umts of Perlmeter e

Shape A Shape B

Shape C Shape D

Shape A and Shape C have the same perimeter.
Shape D has the greatest perimeter.

Shape A and Shape D have the same area but
different perimeter.

The perimeter of the quadrilateral shown below is 29 in.

9 in.

When we draw figures, we
can make them smaller than
5 in. 4 in. the actual size. We label the
sides with the actual lengths.

q’gépq.re): Pri\'rq:_é:Lirnige




VYVolume :

'_:'.'The'volume of au _t cube is. ‘l cub;c umt T |
-"_'_The-amount of space a sohd occupues IS its volume

This is the drawing of a unit cube on a dotted paper.

. . . e d unit cube

This solid is made up of
3 unit cubes.
{ts volume is 3 cubic units.

--_-.:The cubic centlmeter (cm3) |s d unst Of Volume,-_""--- '_
The volume of cn ‘l cm cube ES 1 cublc centlmeter (cm-”)

The solid is made up of 10 1-cm cubes.

The volume of the solid is 10 ¢cm?

} 2008 Miirshall Cavendish, Internationcl {Sin :




Name:

Class: Date:

-Xercise

1. Match the shapes that have the same area.

. Fr:rﬁurj':_Mu.ihém.ﬁiit's. S'.lt.'mdrj'r_d's' Edition) Exire Prattice




2. Circle the shape with -a greater area.

a




3. What is the area of each shape?
(9) (b)
The area is : The area is .
() (d)
The areais ____ . The areq is :
e (f
The areais The areais .
square units. square units.

i ?Hmn_ry._ﬂé&ihemqtlcs (S_iuﬁﬂﬂ_rds Editios) .Exfru Frucﬁce‘




4. Find the area of each of the following figures.

squdre units

square units

square units

squdre units

o
G

square units |

Che

.

SN
G

S
MWQ:\%WWW

square units

Pritmary Mathematics:

(:Siundutds' E-':fi!_wn’). E_x!r'ai_F.’fdct'lce.' 1 .
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5. (@)  What is the area of each of the following figures!?
1 em

Al

T cm ]

L

N




s
-
S

-
s

Figures . and have the greatest area.
Figure ____ has the smallest area.

Figures Aand ____ have the same area.

Figures Cand ________ have the same area.

have the same area.

Figures D and




Ciass; Date:

rimeter

. What is the perimeter of each of the following figures?

T em

a Complete the following table.

Figure Perimeter
A

o o
-
.

e
g e

< (Stundards Edition} Exfra P:r'ﬁ'cﬁc'e-é- L




(b)

Figures D, ——and ____ have the same
perimeter.

Figures A, and ____ have the same
perimeter.

Figures G and have the same perimeter.

Figure ____ has the greatest perimeter.

2. Find the perimeter of each of the following figures.

1 om

The perimeter is

The perimeter is

Priiﬁury Mithematics .('S'Iun'du_rd's._Et'iiﬁéﬂ_l' Exirq' Praclice 3




3. Find the perimeter of each of the following figures.

(@) (b)

10 cm

4 cm

4 cm
6 cm 2 cm 8 cm

4 cm
2 cm 2 cm

8 cm 2cm

Perimeter = __ cm  Perimeter=__  em

(c) 5cm (d)
8 cm 5em
8 om 10 cm
4 cm
4 cm
Perimeter = cm  Perimeter=__  m




4. (a) Complete the table below.

Rectangle Perimeter Area

A in. square inches

B in. square inches

C in. square inches

(b) Rectangles _____and . have the same |
perimeter but different area.

Rectangle

has the greatest perimeter.
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Exercise 3 : Volume

1. How many unit cubes are needed to build each of the
following solids?

Complete the following table.

Solid Number of unit cubes

A

B
C
D




a

id

ach sol

ind the volume of e

F

2

(b)

cubic units

cubic units

(d)

()

[ T . . e st i . : 3 . .
L : :

ts
ts

@
.

cubic un
cubic un

1
~L 1
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(9)  Which solid has fhe greatest volume?

(h)  Which solid has the smallest volume?

3. The following solids qre made up of 1-cm cubes. Find
the volume of each solid.

(@) (b)
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cm cubes

(b)
(d)
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Complete the table below the solids

The sol
(a)
(c)
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Solid | Length (cm) | Width (ecm) | Height (em) | Volume (ecm
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Unit 1 Numbers to 10,000

1. (a) 3104 k) 7035
2. (o) 204 (b) 371Y (] 4009 (d) 1500
le} 5243
3. {a)  Five hundred twenty
(b}  Three thousand, eight hundred five
{c) Five thousand, one
{dl  Six thousand, ferty-three
{el  Seven thousand, two hundred ninety
{h Nine thousand, eighteen
4. {a] 200 b} 70 el 1 {d) 4000
{ 800

e 40 {f)

n 5

1.da) 4,31, (h) 4000
(¢} hundreds, 300 di 1,10
(e} 5 5
2. (o) 8, 60, 700, 1000 by 8, 90, 600, 2000

Ce) 20 50, 700, 3000 id)

4, 10, 600, 2000

: 3. (e} 3000 (b} 3 <) 300 {di 30
| 1. (o} 2186 (b} 8137 (¢} 4857 (d} 2382
| 2. (o} 5781 (b} 6624 (¢ 8017 (d} 9532
. 3. la} < b < e = di =
. 4. a) 4009, 4067, 4135, 4302

(k] 6531, 6513, 4351, 6315
|
|
| Cdal 1039 (b} 1816 () 3590  id) 4992
’ le} 8074 (H 8001
[ 2. la) 1 thl 10 [} 100 {di 1000
| 3. fa) 7660 b} 7669 Ik} 7759 {d)  8&5¢
\ 4, 1o} 4040 ib) 4310 I TO0 {d) 4013
, 5 da) 9250 (b] 9223 (] 6253 (d) 8953
4. {a) 6255, 6355 b) 4361, 7361
{c) 2399, 2349 {d) 48, 3068
{e)] 8652, 5652 3726, 3426
1. (o) 110; 110, 100; 110
{b) 110, 120; 120
2. 5700; 5600, 5700; 560G
3. (o) 320 (b} 470 i} 400
[} 1020 ()] 3620 (A 4740
4. {a) 1600 (b} 9100 (¢} 3100
{d) 2300 .{e)] 7600 (f 5600
5 {a) 6000 (b} 9000 (¢} 5000
{d} 9000 (e} 4000 (O 3000

Unit 2 Addition and Subtraction

1. e} 33 (b} 41 (b 53 (d) 83 e

2. (o} 37, 45,45 b] 46, 55, 55
{c] 88, 94, 94

3. {a) 87 by 77 (¢ 58

1 (al 24 (b} 38 [ 49 (d} 68 (e
12,6, 6 ib) 37, 28, 28

|41, 34, 34

3 (o) 14 (b} 56 {15

1. la) 74 ) 14 {39 W) 18
D la) 47 ] 61 ) 77 Wy 91

i1 @ 2008 Marshall Cavendisk Intornational (S
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5.
6.
7.

{a)
{a}

(b)

{c)

VERS

5 ) 50  (d 40 ] 10
57 ?
g0
9057 =33
76 15
7
76 + 15 = 91
81
25 7
81 - 25 = 56
58 bl 56 (o) 95
- by + e} - {d)
= b} = ¢} = {d)
> h =
538 (b 703 () 530
726 o) 77 H 467
660 b} 794 {c) 649
702
60, 80, 140 ] 60, 90, 150
670, 200, 870 idi 90 80, 10
90, 30, &0 {5 260, 140, 120
600, 300, 900 (bl 700, 200, 900
700, 200, 900 idi 1000, 600, 400
800, 700, 100 ifl 800, 400, 400
27 (b} 83 1) 18
81 (6} 28
188 th) 600 (o) 435 (d) 430 (e
62 i 858 () 21
] 2007 o) 3705
{e] 8038 9000
b) 3352 &) 1527
5527 ] 9816
1333 (b} 2519 ¢} 1880
1814 e 2523 3319
5141 ihi 4800 iy 7013
8332 ki 6566 ] 4733
10,000 in] 9302 lo} 9302
1902 ] 2680 () 4570
4400 (el 7300 8600
507 by 639 ] 718
395 e 279
1364 by 817 () 1908
2124 o) 2321 H 2678
1946 thy 1556 6 803
2997 ki 4997 0169

350




I o) $3058 (b1 19l 4076 i) §798 gl 3030 i) 3600 [) 4278

{it 4620 (k) 5436 5724
Unit 3 Multiplication and Division 4 §3§ %R ! ?;)) H Rz Ef}) {2 |
igl 43 {hy 50 il 65 i
) 83RrR2 ki 92 i 89R3 .
12 5 {a) 45,4 (b} $4392 {c) $150 i
2. Ax4=204x5=20
37,2 ) ‘i
A 24,24,8,3 1. la) 7 (b} 14 [c) 21 {d) 28 le} 35 !
5 [a) 10 (b} 18 c] 36 (j] 0 B 42 (g) 49 (b} 36 [} 63 L 70 |
6. (o) 8 b} ¢ {0 4 {dy 8 .
7 (2] o, 9 b 7,7 2. (3557 7w7 {56+7 ) 707497} |

by 8m (e} 10 W

el 61lb 24 i

(a7 1a=7 217637 42-7) ‘

3. {a) 140 b} 469 e} 553 (d) 458 \

L b e G RO s
i o

2. o) 120 by 100 fe) 1200 {dy 1000 4 (o) 7R84 () 9R1 [ WR2 (d 1 [

e} 219 6 46 {g) 355 (b} 244
3. {a) 272 (b} 1095 {c} 1044 {d) 2500

fe] 159C (H 2871 lg) 4848  {h) 46262

M 9220 ) 9492 k6430 {l} 950
4. [a) 189 ) 320 (¢ 288 d} 178

s} 828 B 1167 (g) 2115 (k) 4250
5 la) 492 by 625 {c] 189

{d} (i) 4000 {if) 4272

{e) {i) $9000 {it) $9375

(e} 36 40 \
100 R 5 G 104 ;
125 M 137R1 %
4623 (c)  $576

1. 25, 37, 281, 403, 2649

2. 18, 46, 318, 360, 4816

3. {a) 34,0 b} 15,1
4.

fa} 11,2 by 22, %1

1. o) 8 k] 12 { 37R8 (d 50%3 :
9 jeb 231,2 (b} 213,2 [ 21,4 (4 4281 i
3. o0 BRZ by 17 f[ej 35R1 !'
d) 19R 4 le} 27 3] SR 4 |

{g) 103 h 265 {105 ‘

i) 183 R 3 (ki 240R 2 I 24 |

4, {a) 35 by 21 {c) 45,5 i
i 114, 4 (

2 la} 104 lk:)]} ;g% {c)) 280 Eﬂ} .']:lgé ;

H A H P 1 (e}l 544 832 28 ;
Unit 4 Mulfiplying and Dividing by 6, 0 2864 [} 2960 (E} 3368 {) 4872 .‘
7, 8 and 9 3 lo) AR5 (b 8 c 9R3 {d) 11 ;

fe} 1TR& (B 12R2 {g} 13RZ2 {h) 25 p

(i} 47 il 43R 4k 83Rs& I 94 i

4. la} 96 th) 224 e} 75 [




| 5724
)12
L)

) 45

} 89 R3

) $150

28 e} 35

& il 70

_.I:.(.-JM—-'
AEEEE

1600
8 b 3

3, 30, 300, 3000

450, 90, 90

ib)
{c) 40

2400, 600, 600, 445, close

Data Analysis

{c] 648
i 7443
{10
H 92
[} 30
1750
iy 90 (e} 7
(b} 2, 20, 200, 2000

(k) 1800, 300, 300

1. lal
MNumber | Number | Total number of
of boys | ofgirls | boys and girls
Wearing caps 22 36 58
Not wearing caps 34 12 46
Eofcl numbe‘r of 56 48 104
oys and girls
by 22 e} 14
2. al Name
Subject Raju Steve | Maggie
English 79 48 70
Mathematics 80 72 75
Science 85 80 87
{b)  Raju (e} Steve (dl  Maggie
let 5 i 5
3. lal  Swimming b}  Playing piane {c] 4
(d) 42
4- ]2 M PP
My
Number “[ 7
of - T o
hours - T " -

— W hn O8N @m0 O
1
|

X
X
X X
X X X
X X X X X
x X X X X X
X X X X X X
X X X X X X
| { | i | |
1 2 3 4 5 &6
b}  impossible
2. la) MNe b) No c] yeliow
Unit 6 Length
1. {o} 400 {b) 400
4 @ {el 110
{gf 7m23 cm thy 52
2. ja) 700 fb) 5
id) 38 e} 2
3. (o) 5mé5em k) 4m7 cm
d) &6mi1Gcm (e} SmQem
4. (o) 2m 17 cm L) Om%%cm
{c) 3m27 cm d} 2m % em
e} 1m80cm
1. fa} 3000 by 10,000
iy 5 {e} 1305
2 la) 1km700m (b)) 4kmOm
[} Tkm220m (d) 2km 108 m
3. [a) 650 by 250
dl 360 e} 970
4. {a) 3km330m (b] 60
] 1Tkm370m (d) 1km100m
15 b) 263
{d 108 {e] 82
g} 12ydOh thl  36yd2H
il 2/0in.
2 (o) 6 th) 13
{d 1 e} 19
g 13 0k in
3, () 6ydORh (bl Byd1H
i) 12/ 17 in 8} 7HOIin
ig) 3R3in
A da) 2yd1H by é&yd2Hh
{d] 10 H 4 in. (e} 489Iin.
lgl O0f6in.
5 {a) 2 (b} 20 e} 1G
. ib) 2640
d] 1760 je) 880
2. (o) 28 by 43

(d)

{c]
"
i)
<)

(<}

{e)
if

)

yellow

531
75
80

8mdem

6km 7 m

925
117
381 in

7
24

10 yd OF
g f 3in.

Ovyd 2 &
Of10in.

3

1320
440




5 {al A b B i} 8
d) 2kg850g (e} 10 A B

6. {a) {1 380 g il 13049 i) 120
ib) 1) 3 kg il 1kg i) $4

2 kg 70 g b

45 kg 100 g
540 g idl 3kg430g, $kg30g
560 g

B
=

fdl

Unit 8 Capacity

S L
g

1.
2.
3. la)
4.
5,

Unit 9 Money

1ib 2 oz b 11 9oz ¢ 1lb0oz
64 by 37 lcl 106
40 fe) 94 i 150
14 b} 12 lej 3

12 e} 75 {h 2

C by 19 ) B

12 e} A, C il 2lbl4ez
é5 b} 250 ic} 150
700 le) 300 900

5 £ 600 ml b)) 5 ¢ 600 ml

11 ¢ 200 ml {d) 9 ¢ 200 ml

1005 {b) 1200 (¢} 2015 (d} 3525
}e600ml (k) 2895 mi ¢} 3¢5ml
3¢ 70 ml

1 £ 650 ml b} 3¢ 900 mi

7 £ 715 ml (dl 5£ 430 mi

7¢372 ml i) 2 £ 900 mi

2¢770 ml thy 3¢€110ml

2 £ 853 mi

1900 ml or 1 £ 200 ml

3085 ml

1 ¢ 450 ml or 1450 ml

38 b} 47

16 b 21

48 (b} 135

é by 12

14 gt O pt (b} 5gal Oat

8ptCc (di 451 pt1e

5 gal 3 qt B 3gr1pr

Z gt 3c b} 1gtlc

4dqgt3c

4 gal 2 gt (bl  2gal 2¢

1 gal & pt

$16.55 (b} $22.41 (] $70.75 (d) $55.12
$2.95 (b} $10.20 {¢) $14.15 (d $23.60
$3075 (B $9415 (g) $512.05 (h} $4040

Five dollars fifty cents

Ten dollars fen cents

Fifty-seven dollars seventy-five cents
Eighty-three dollars forty cents

Two hundred sixty-one dollars

Four thousand, five hundred sixty-seven doliars

$9.75, $1o.4o by $11.45, $11.60
$39.05, $39.90 d)  $83.75, $84.30
$6 b} $¢ il %10 d) $14

$18  ih $15 ) $1339 (b $17.49
$45.10 {j}  $39.45

$8.05 b} $12.10 b $30
$71.40 {e] $42.70 i $43.75

$50.50, $4.25, $54.75

Edon)Extru Pruchce3

$12.99, $2.35, $15.34

$5.45, $27.85, $33.30

$11.20, $15.60, $26.80

$4.25, $50.50, $11.20, $65.95
$27.85, $12.99, $15.60, $56.44

{d)
2. {a)
fc)
3. [(a)
e}

2. (al
3. la)
e}
4. {a)
{a)
5. {a}
{c)
(e)
6. [a)
(e}
{e]

- © 2008 Marshall Cavendish International (Singapore) F‘ri\_'

$8.80 (b} $8.20 (c)  $54.50
$9.75 (e}  $35.51 i $12.30
$2.25, $2.05 (b $3.10, $2.20
316, $15.70 (i $15.05, $14.10
$2.50 bl $1.70 ie) $16.60
$22.25 e} $64.75 i 32620
$15.90 thi  $29.45 il $17.20
$18.06
$2.40 th)  $1.05 ¢l $1.30
$3.45 e} $22.15 th $2.55
$6.20 {h) $8.85 {e)  $7.65
$1.95 e} $13.27
750¢ or $7.50 thl  1120¢ or $11.20
$36 il §201.60
40¢ {b) &600¢ or $&
$1.20 {d  $5.02
$64.80 fh)  $8.60

10 Froctions
3 2 7
3 by 3 {c) )
1 3 5
Z CYRY m oz

Any 3 parts shaded (b

Any 2 parts shaded
Any 1 part shaded {dd)

Any 7 parts shaded

1 4 3
Zoowo3 @ g W gors
3 4 3 2]
i oy lgt @ th =
78
2 i 72

3 3 2
2ok W3 @3
1 5] i 1
3 bl 3 & g @ 7
i 7 3 1
3 B o5 @ F g
5 10 6 8
SRR T SN B (B
1 1 2 5
O - G S R
2 b 3 1
A R S R
1 1 1 4 4 4
557 b 3.7 7

2 1 7 5 1
b33 9 5 58
3 303
4057
i 1 5 5 5
705! b 5. 7.3
Z2 3 4 5 g 10
555 {d) 1292732
2 2 2
e 73




2. a}
@
..
4 la) -]9—2

E
ot glo @i

5
9
3
8
3

12

I ()

T 18

(b
le)

(b}

{el

yd

]

(b)
e

a 7 1
4 3] 10
8 5
55 15
1
3

4
5
6 2 é
53 & =
8 2 10
T2 o1y A T
z
9
k2 5 1
172 (C) m OFE
1 4
4 U
6
(bl 55 kgor %kg
i
7
24 {e} 45
84 | 100
S 3 i) 3
6 or E < )
il
2
80

10, 4,10, 4 (b} 20,8, 20,8
25,11, 25, 114d) 20,1, 20,1
7:58 ) 12:29

2:18 {e) 9:43

2:30 a.m by 820 p.m,
4115 a.m. {e) 2:00 p.m.

3:40, 15, 3:55
10:00, 2, 12:00
5:45, 1 h 40 min, 7:25
12:05, 4 h 25 min, 4:30
8:25, 1 b 30 min, 9:55

2:05 a.m. (b} 10:20 p.m.
8:45 p.m. fe)] 1210 a.m.

(£} 7 h 30 min

k) 155

k) 175

e} 1 h 35 min
2h15min (b} 4 h 45 min
1 h 35 min {b) 2 h 50 min
5h 5 min let 5 h0 min
Th20min {b] 1 h 50 min
Th25min le 1 h55min

10:45 a.m. ib)

3 h 15 min

1.
2.
3.

4.
5
6.
9.

{c} 13113

i &37

{c} 415 pom.
) 1:50 p.m.
() 510 pm.
{c} 8h

¢t 3h15min
{c} 205
1 h 50 min
{c}  2h 35 min

(¢ 1 h 40 min

Mrs. Ray, 20 min shorter

2 h 50 min

8 by 19

205 bl 3 min 205

85 b} 155

190 {d) 1 min 55 s
2min45s (3 4min0Os

28 months (b) 22 months

33 menths {d} 37 months

35 (b} 2 years 4 months
24 days (b} 15 days

11 days {d} 26 days

20 b} 3 weei:s 1 day

Fiqure Number of sides Number of angles
{a) A 4 4
(b} B 5 5
] [& 5 5
{d] D 6 3
{e} E 3 3
{" E 9 9
) 88
Number Number Number
of sides of angles of right angles
A 4 4 2
B 4 4
C 3 3 1
(8] 4 4 4
E 4 4 1
F 4 4 2
G 5 5 3
H 3 3 1




ib) only
A, B F

PN~

la)  right-angled isosceles

lal  eylinder ib)
e} rectangular pyremid  id)

2. {a) O ib)
4] 58,5

3. sphere, cone

b

la)  isosceles b} equilateral {c}
(k) right-angled scalene

scalene

iangular prism

sphere
6,12, 8

Unit 13 Area, Perimeter and Volume

10

1. la)

(b}
(o)
(e}

L

{a)

Figure Perimeter
A 14 ¢m
B 14 om
C 18 cm
D 12 cm
E 12 em
F 16 cm
G 16 cm
H 12 cm
i 14 cm
E,H le)] B, 1 idl F (e} C
12 b} 16
32 by 32 e} 39 (d 32
Rectangle Perimeter Areq
A 16 in, 15 square inches
B 16 in. 12 square inches
C 18 in. 20 square inches

Q]

C

1. Solid Number of of unit cubes
A 3
B 8
C 13
D 10
2. [a) 11 thy 13 ey 7
4y 10 {e) 20 {f 15
lg) E i C
3 da) 9 fb) 12 {c] 10
dy 11 e} 8 {f 14
4. | Solid | Length {em) | Width (cm) | Height (cm) | Volume {cm?)
A 3 2 3 18
B 5 3 2 30
C 6 2 4 48
D 3 3 3 45
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